TECHNICAL BID EVALUATION CRITERIA TENDER FOR CONSUMABLE LABORATORY ITEMS FOR THE Yr. 2017-18

COMPULSARY PARAMETERS: FAILURE TO COMPLY WITH ANY COMPULSARY PARAMETERS WILL RESULT IN DISQUALIFICATION OF BIDDERS

ANNEXURE-A

		1	2	3	4	5	6	7	8	9	10
Sr.No	PARAMETERS FOR REQUIRED DOCUMENTS	ATH Enterprises	I.R Scientific International	JAF & CO	Mod Enterprised	MHK Enterprise	M/S NationaL Agencies	Popular International	Saad Sales	Seico Scientific	Three Star Medical Supplies
	Copy of Registeration National Tax number (NTN) Mandatory/ general sale tax(GST)	YES	YES	YES	YES	YES	YES	YES	YES	YES ~	YES
	Company agreement with principal duly countersigned by Pakistan embassy /Counslates / dulty attested notary public.	NO	NO	YES	YES	YES	YES	YES	NO	YES	YES
3	The required documents according to the terms & conditions mentioned in the Bid form.	NO	NO	YES	YES	NO	YES	YES	NO	YES	YES
4	Copy of undertaking regarding supply of required items within stipulated time with quality certificate from the authorized laboratory.	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES
5	Financial turn over for the last 03 yrs (100 million in each year with bank certificate regarding financial soundness of the firm as per bid documents.	NO	NO	NO	NO	NO	YES	YES	NO	YES	YES

Sr.No	PARAMETERS FOR REQUIRED DOCUMENTS	ATH Enterprises	I.R Scientific International	JAF & CO	Mod Enterprised	MHK Enterprise	M/S NationaL Agencies	Popular International	Saad Sales	Seico Scientific	Three Star Medical Supplies
6	Relevant experience / previous performance for the last three yrs (Documentary evidence should be attached.)	NO	NO	YES	15 - YES	15 - YES	15 - YES	15 YES	NO	15 - YES	15 - YES
7	FDA /ISO-2015/2016 Certified15 Marks FDA /ISO-2013/2014 Certified10 Marks FDA /ISO-2012 Certified05 Marks	0	30	30	30	0	20	30	0	25	25
8	Business with Non- Government institution for the last 3 yrs (Satisfactory certificate required)	0	5	10	10	10	10	10	0	10	10
9	Financial soundness Turnover Less than 100.00 Million in each yr05 Marks Upto 100.00 Million in each yr10 Marks More than 100.00 Million in each yr15 Marks.	0	5	10 - YES	5	0	25	25	0	25	25
10	Business with Government institution for the last 3-yrs (Satisfactory Certificate required.) a.Upto 03 institutions05Marks b.More than 03 institutions10 Marks.	0	5	15 - YES	15	5	15	10	0	15	15

Sr.No	PARAMETERS FOR REQUIRED DOCUMENTS	ATH Enterprises	I.R Scientific International	JAF & CO	Mod Enterprised	MHK Enterprise	M/S NationaL Agencies	Popular International	Saad Sales	Seico Scientific	Three Star Medical Supplies
11	Numbers Obtained	0%	45%	80%	75%	30%	85%	90%	0%	90%	90%
12	REMARKS	Dis.Qualified	Dis.Qualified	Qualified	Qualified	Dis.Qualified	Qualified	Qualified	Dis.Qualified	Qualified	Qualified

Remarks: The following ten (10) firms participated in the Tender with result as under:-

- 1. M/S ATH: The firm does not fulfill clauses # 02,03,05 & 06 of compulsory parameters, obtained 0% marks. Hence declared technically disqualified.
- 2. M/S I.R Scientific: The firm does not fulfill clauses # 02,03,05 & 06 obtained 45% marks in other parameters. Hence declared technically disqualified.
- 3. M/S Jaf & Co: The firm fulfill all clauses of the parameters, obtained 80% marks from another parameters. Hence declared technically qualified.
- 4. M/S MOD Enterprises: The firm fulfill all clauses of the parameters, obtained 75% marks from another parameters. Hence declared technically qualified.
- 5. M/S MHK: The firm does not fulfill clauses # 03,05 of compulsory parameters, obtained 30% marks in other parameters. Hence declared technically qualified.
- 6. M/S National Agencies: The firm fulfill all clauses of the parameters, obtained 85% marks from another parameters. Hence declared technically qualified.
- 7. M/S Popular International: The firm fulfill all clauses of the parameters, obtained 90% marks from another parameters. Hence declared technically qualified. 8. M/S Saad & Sales: The firm does not fulfill clauses # 2,3,5 & 6 of compulsory parameters, obtained 30% marks in other parameters. Hence declared technically qualified.
- 9. M/S Seico Scientific: The firm fulfill all clauses of the parameters, obtained 90% marks from another parameters. Hence declared technically qualified.

Dr. Shaheen Jawad

Ex:Pathologist

Dr. Shagufta Yasmeen

Paediatrician

Dr.Faheem Bhutti

E.N.T Specialist

Dr.Shoaib Sultan

Cardiotogist

Cardiologist

Cardiologist ladh Govt. Sarvices Hospita

Karachi

Dr. Fouzia Shirazi CCS

Pharmadist



OFFICE OF THE MEDICAL SUPERINTENDENT & CIVIL SURGEON, SERVICES HOSPITAL KARACHI COMPARATIVE STATEMENT OF CONSUMABLE / LABORATORY ITEMS FOR THE ANNUAL TENDER 2017-18



ANNEXURE-B

			1	2	3	9	>	
SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER
1	Hematology Analyzer Diluents (J.T. Baker)	30 Packs	not quoted	not quoted	18400/pack of 20 Ltr (920/ml) Nihon Kohidon Japan/Italy	9000 / Kit of 20 ltr (0.45 / ml) Human Germany	not quoted	not quoted
2	Triplex (EDTA)	01 Kg	not quoted	not quoted	1428.57/Kg R.D.H	not quoted	not quoted	not quoted
3	A . S. O. T100 Test	06 Kits	not quoted	not quoted	2357.14/Pack of 100 Test (23.57/Test) Q.C.A Germany	2664 / Kit of 100 test (26.64 / test) Human Germany	1690 / kit of 100 test (16.90 / test) Linear Chemicals spain	1490/Kit of 100 test (14.90/ test) SBIO
4	A.P.T.T Kit	2 Kit	not quoted	not quoted	5571.42/Kit of 40ml (139.28/ml) Q.C.A Germany	4499 / Kit of 6x4 ml (187.45 / ml) Human Germany	5230 / kit of 10x4 ml (130.75 / test) Linear Chemicals spain	not quoted
5	Albumin Kit 2'250ml	03 Kits	not quoted	not quoted	2314.28/kit of 3x100ml (7.71/ml) Q.C.A Germany	2202 / Kit of 1000 ml (2.20 / ml) Human Germany	1110 / kit of 4x100 ml (2.75 / ml) Linear Chemicals spain	not quoted
6	Alkaline phosphate	10 Kits	3361/Kit of 150 ml (22.41 /ml), ERBA	not quoted	2769/Kit of 3x50ml (18.46/ml) Gesan Italy	7403 / Kit of 4x250 ml (7.40 / ml) Human Germany	1110 / kit of 3x100 ml (3.66 / ml) Linear Chemicals spain	not quoted
7	ALT (SGPT)	12 Kits	3240/ Kit of 250 ml (12.96 / ml) ERBA	not quoted	8485.71/Kit of 940ml (9.02/ml) Q.C.A Germany	6304 / Kit of 4x250 ml (6.30 / ml) Human Germany	1940 / kit of 3x100 ml (6.466 / ml) Linear Chemicals spain	not quoted
8	Amylase	01 Kit	not quoted	not quoted	9857.14/Kit of 120ml (82.14/ml) Q.C.A Germany	7322 / Kit of 12x10 ml (61.02 / ml) Human Germany	2180 / kit of 5x20 ml (21.80 / ml) Linear Chemicals spain	not quoted
9	Anti HCV (Elisa)	20 Kits	not quoted	not quoted	not quoted	4300 / Kit of 96 test (44.79 / test) Acon USA	2990 / kit of 96 test (31.115 / test) AutoBio	not quoted
10	Anti-Sera "A"	20 Bottles	not quoted	not quoted	242.85/Vial of 10ml Biotech	not quoted	not quoted	235/ bottl of 10ml (23.5/ml) SBIO
11	Anti-Sera "B"	20 Bottles	not quoted	not quoted	242.85/Vial of 10ml Biotech	not quoted	nat quoted	235/ bottl of 10ml (23.5/ml) SBIO
12	Anti-Sera "D"	15 Bottles	not quoted	not quoted	500/Vial of 10ml Biotech	not quoted	not quoted	325/Bottl of 10ml (32.5/ml) 5BIO
13	Barium Chloride	01 Bottle	not quoted	not quoted	357.14/Bottle of 500ml (0.71/ml) Biorays	not quoted	not quoted	not quoted
14	Blood Urea (End point) Kit	10 Kits	not quoted	not quoted	5000/Kit of 4x125ml (10/ml) Spinclour	6089 / Kit of 2x1000 ml (3.045 / ml) Human Germany	2130 / kit of 4x100 ml (5.325 / ml) Linear Chemicals spain	not quoted
15	Calcium Kit	04 Kits	not quoted	not quoted	2914 28/Kit of 200ml (29.14/ml) Q.C.A Germany	1320 / Kit of 200 ml (6.60 / ml) Human Germany	1810 / kit of 4x100 ml (4.525 / ml) Linear Chemicals spain	not quoted
16	Chemistry control { High, Low, Normal}	20 Boxes	7550/ set of 4x5 ml (377.50 /ml) ERBA , Normal / Path	not quoted	not quoted	5098 / Box of 6x5 ml (169.92 / ml) Normal Control & Abnormal Control, Human Germany	not quoted	not quoted
17	Cholesteral Kit 2 100ml	12 Kits	not quoted	not quoted	5571.42/Kit of 2x250ml (11.14/ml) Q.C.A Germany	3202 / Kit of 4x100 ml (8 / ml) Human Germany	6040 / kit of 4x250 ml (6.04 / ml) Linear Chemicals spain	not quoted
18	Cleaning Solution	15 bottles	not quoted	not quoted	6000/Pack of 1000ml (6/ml) Nibon Kehidan	4800 / Bottl of 1 litr (4.80 / ml)	not quoted	not quoted

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER
19	Cleaning Solution (Easylite) 1x90ml	06 Pieces	not quoted	not quoted	8000/Kit of 12pcs Medica USA	not quoted	not quoted	not quoted
20	Dengue fever Kit device	05 Kits	not quoted	8600 / Kit of 40 test (215 / test) Acu-chek, USA	4285.50/Kit of 25 test (171.42/Test) Healgen	16254 / Kit of 25 test (650.16 / test) Human Germany	not quoted	not quoted
21	D-ionized Water	30 Liters	not quoted	not quoted	50/Liter	not quoted	not quoted	not quoted
22	Field Stain A	06 Bottles	not quoted	not quoted	535.71/Bottle of 500ml (1.07/ml Biorays	not quoted	not quoted	699 /Bottl of 500ml (1.398/ml) Diachem / Medilike
23	Field Stain B	06 Bottles	not quoted	not quoted	535.71/Bottle of 500ml (1.07/ml Biorays	not quoted	not quoted	699 /Bottl of 500ml (1.398/ml) Diachem / Medilike
24	Fouchist reagent 250ml Bottle	02 Bottles	not quoted	not quoted	1428.57/Bottle of 500mi (2.85/ml) Biorays	not quoted	not quoted	not quoted
75	Gama GT Kit	10 Kits	3158 / Kit of 100 ml (31.58 / ml)	not quoted	3046/Kit of 3x50ml	9936 / Kit of 4x250 ml (9.94 / ml)	3290/ kit of 3x100 ml (10.966 /	not guoted
25	Gama GT KIL	TORIES	ERBA	0	(20.306/ml)Gesan	Human Germany	ml) Linear Chemicals spain	2.02.000 4500-00.00
26	Glucose Kit (4'250ml)	10 Kits	5065 / Kit of 1000 ml (5.06 / ml) ERBA	not quoted	1714.28/Kit of 4x250ml (1.71/ml) Biomed	3953 / Kit of 1000 ml (3.95 / ml) Human Germany	1570 / kit of 4x250 ml (1.57 / ml) Linear Chemicals spain	1599/Kit of 1000ml (1.599 /ml) SBIO
27	Haematology controlls (Low,Normal,High)	One Set	not quoted	not quoted	6500/Vial each vial of 2.0ml Nihon Kohidon	22200 / Set of 3x2.5 ml (2775 / ml) Human Germany	not quoted	not quoted
28	НЬ А 1С	20 Kits	not quoted	not quoted	not quoted	18000 / Kit of 100 test (180/ test) Human Germany	7430 / kit of 25 test (297.20 / test) Linear Chemicals spain	not quoted
29	Hbs Ag (Elisa)	20 Kits	not quoted	not quoted	2428.57/Kit of 96 Test (25.29/Test) CDC	2728 / Kit of 96 test (28.42 / test) Acon USA	1730 / kit of 96 test (18.020 / test) AutoBio	not quoted
30	HDL Kit 4'80	03 Kits	not quoted	not quoted	6428.57/Kit of 250ml (25.71/ml)Merck	8584 / Kit of 80 ml (107.30 / ml) Human Germany	700 / kit of 2x40 ml (8.75 / ml) Linear Chemicals spain	not quoted
31	Hemoglobin Kit 1'5000 ml	02 Kits	not quoted	not quoted	1714/Kit of 03 Ltr (571.33/Ltr) Q.C.A Germany	3340 / Kit of 10x500 ml (0.67 / ml) Human Germany	670 / kit of 2 x 5 ml (67 / test) Linear Chemicals spain	not quoted
32	Hepatitis – B Chromatography method (Strip)	100 Kits (40 tests)	760 / Kit of 40 test (19.00 / test) Accurate	619 / Kit of 40 test (15.475 / test) Acu-chek, USA	339.28/Kit of 25 Tests (13.57/Test) Healgen	not quoted	not quoted	600/Kit of 40 test (14.99 / test) Fastep
33	Hepatitis – C Chromatography method	100 Kit (40 tests)	1320 / Kit of 40 test (33 / test) Accurate	1019 / Kit of 40 test (25.475 / test) Acu-chek, USA	678.57/Kit of 25 Tests (27.14/Test) Healgen	not quoted	not quoted	1000/Kit of 40 test (24.99 / test) Fsatp
34	Easylite Reagent 400ml Pack size		not quoted	not quoted	31000/Pack of 400ml (77.50/ml) Medica USA	not quoted	not quoted	not quoted
35	Easylite Cleaning Reagent		not quoted	not quoted	8000/Pack Medica USA	not quoted	not quoted	not quoted
36	Laishman stain	01 Kit	not quoted	not quoted	642.85/Kit of 500ml (1.28/ml) Biorays	not quoted	not quoted	not quoted
37	LDL Kit	10 Kits	not quoted	not quoted	6714.28/Kit of 250ml (26.85/ml)Merch	14528 / Kit of 80 ml (181.61 / ml) Human Germany	950 / kit of 2x50 ml (9.50 / ml) Linear Chemicals spain	not quoted
38	Lysing Reagent	30 Bottles (800cc)	not quoted	not quoted	30000/Bottle of 1000ml (30/ml) Nihon Kohidon	9000 / Bottl of 1 litr (9 / ml) Human Germany)	not quoted	not quoted
39	Multistix SG / Combur-T	100 Bottles	1345 / bottle of 100 strips (13.45 / test) ERBA	575 / bottl of 100 strip (5.75 / strip) combistic k, korea	557.14/Bottle of 100 Test (5.57/Test) Accu Quik USA	510 / Bottl of 100 test (5.10 / test) Acon USA	not quoted	849 /Bottl of 100 test (8.49 /test) DFI Korea
40	Pregnancy Kit 100 Test	15 Kits	not quoted	not quoted	2428.57/Kit of 100 Test (24.28/Test) Lab Test Lab test	not quoted	not quoted	279 / Kit of 1x50 (5.58 / ml) Fastep / Imported
41	Prothrombin Time Kit	2 Kits	not quoted	not quoted	3714.28 / Kit of 10x20 ml (185.71/ ml) Q.C.A Germany	4361 / Kit of 6x2ml (363.40 / ml) Human Germany	6330 / kit of 10x5 ml (126.60 / ml) Linear Chemicals spain	579/Kit of 5ml (115.80 /ml) \$810

24 2

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER
42	R . A Factor 100 Test	10 Kits	not quoted	not quoted	2142.85 / Kit of 100 test (21.42 / test) Q.C.A Germany	1740 / Kit of 100 test (17.40 / test) Human Germany	1230 / kit of 100 test (12.30 / test) Linear Chemicals spain	1499 / Kit of 100 test (14.99/ test) SBIO
43	Salfosalicylic Acid	01 Kg Powder	not quoted	not quoted	8571.42 / Kg , R.D.H	not quoted	not quoted	not quoted
44	Serum Creatinine (2'500 ml)	06 Kits	not quoted	not quoted	5571.42 / Kit of 4x30 ml (5.57 / ml) Gesan / Italy	1680 / Kit of 2x100 ml (8.40 / ml) Human Germany	1270 / kit of 4x250 mi (1.27 / ml) Linear Chemicals spain	not quoted
45	Serum Phosphorus	2 Kits	not quoted	not quoted	2569 /Kit of 4x30 ml (21.408 / ml) Gesan / Italy	1740 / Kit of 200 ml (8.70 / ml) Human Germany	980 / kit of 3x50 ml (6.534 / ml) Linear Chemicals spain	not quoted
46	Sodium (NAPH) Humulite	06 Pieces	not quoted	not quoted	not quoted	not guoted	not quoted	not quoted
47	Sodium Citrate	O1 Kg	not quoted	not quoted	1285.71 / Kg, R.D.H	not quoted	not guoted	not quoted
48	Total Blirubin 2'625	06 Kits	not quoted	not quoted	3571.42/ Kit of 600m! (5.95 / ml) Gesan	1441 / Kit of 200 ml (7.21 / ml) Human Germany	750 / kit of 2x100 ml (3.75 / ml) Linear Chemicals spain	not quoted
49	Total Protein Kit 2'500ml	03 Kits	not quoted	not quoted	2857.14 / Kit of 3x50ml (9.52 / ml) Gesan / Italy	2790 / Kit of 1000 ml (2.79 / ml) Human Germany	1650 / kit of 4x250 ml (1.65 / ml) Linear Chemicals spain	not quoted
50	Triglyceride (Human)	10 Kits	not quoted	not quoted	8821.42 / Kit of 300ml (29.40 / ml) Q.C.A Germany	3478 / Kit of 4x100 ml (8.69 / ml) Human Germany	5490 / kit of 4x100 ml (13.725 / ml) Linear Chemicals spain	not quoted
51	Uric Acid Kit	06 Kits	not quoted	not quoted	5714 28 / Kit of 300ml (19.04 / ml) Q.C.A Germany	3166 / Kit of 4x100 ml (7.91 / ml) Human Germany	5280 / kit of 4x250 ml (5.280 / ml) Linear Chemicals spain	not quoted
52	S. Ferritin	10 Kits	not quoted	not quoted	4142.85 /Kit of 200ml (20.71 / ml) Q.C.A Germany	not quoted	8050 / kit of 96 test (83.844 / test) Wantai China	not quoted
53	Widal Test TO, TH, AO, AH, BO, BH	15 Sets	5000 / Kit of 6x5 ml (8.33 / test) Lab Diagnostic	not quoted	4714.28 / set , Q.C.A Germany	4946 / Set of 6x5 ml (164.88 / ml) Human Germany	2270 / kit of 6x5 ml (75.666 / ml) Linear Chemicals spain	not quoted
54	Xylene 2.5 Lit Bottle	01 Bottles	not quoted	not quoted	2000 / Bottle of 2.5 ltr (800 / ltr) R.D.H	not quoted	not quoted	not quoted
				MICROB	OLOGY SECTION			
55	Culture Swabe	2 Boxes	not quoted	not quoted	642.85 / Box , China	not quoted	not quoted	not quoted
56	Flask Flat Bottom 3 litter	12	not quoted	not quoted	1285.71 / 1 , China	not quoted	not quoted	not quoted
57	Flask Flat Bottom 5 litter	6	not quoted	not quoted	5142.85 / 1, China	not quoted	not quoted	not quoted
58	Forcep	6	not guoted	not quoted	71.42 / 1, Pak made	not quoted	not quoted	not quoted
59	Test Tube 12/11	2 Boxes	not quoted	not quoted	228 57 / Box of 100's, China	not quoted	not quoted	not quoted
60	Test tube 12/75	2 Boxes	not quoted	not quoted	214.28 / Box of 100's, China	not quoted	not quoted	not quoted
61	Urine Container	1000	not quoted	9.40 / container of 250 pcs, Pak made	15.38 / pack of 100's, Pak made	not quoted	not quoted	899 / 1000 nos.of 100 (8.99 / 1) Local
62	Volumetric Flask	2	not quoted	not quoted	1071.42 / no. of 250ml (4.28 / ml) China	not quoted	not quoted	not quoted
	24-014-01-01-01-01-01-01-01-01-01-01-01-01-01-		4	GLAS	SWARE ITEMS			
63	Cover Slip for improved neumber counting	10 Packs	not quoted	not quoted	1714.28 / pack of 10 , Germany	not quoted	not quoted	not quoted
64	Beaker 1000 ml	04 Nos	not quoted	not quoted	285.71 / 1, China	not quoted	not quoted	not quoted
65	Common Sample Cup for storage	5000 each	not quoted	not quoted	not quoted	not quoted	not quoted	399 / box (0.40 / 1) China
66	Cover Slip 18 18, (10x100 per Boxes)	05 Boxes	not quoted	not quoted	1384 / Box of 1000 (1.384 / no.) China	not quoted	not quoted	89 / pkt of 1x72 Pcs (1.24 / pcs) China
67	Vacuette E S R disposable pipetes	8000 Nos	18.25 / each of 1x50, Greiner Bio-One	not quoted	19.28/ Box of 200, Gerner	not quoted	not quoted	not quoted
68	E S R Stand	5 Pieces	not quoted	not quoted	642.85 / 1, Pak made	not quoted	not quoted	not quoted
69	E S R pipites	5 Dozen	not quoted	not quoted	514.28 / Dzn , China	not quoted	not quoted	not quoted
70	Electrodes Na, K, Cl	03 Each	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted

Ly Gr

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER
71	Filter paper	05 Packets	not quoted	not quoted	357.14 / Box of 100's, imported	not quoted	not quoted	not guoted
72	Glass Pipetes 0.5 ml	12 Pieces	not quoted	not quoted	107.14 / 1, HBG Germany	not quoted	not quoted	not quoted
73	Glass Pipetes 1ml	12 Pieces	not quoted	not quoted	107.14 / 1, HBG Germany	not quoted	not quoted	not quoted
74	Glass Pipetes 2ml	12 Pieces	not quoted	not quoted	107.14 / 1, HBG Germany	not quoted	not quoted	not quoted
75	Glass pipettes 10 ml Volume	12 pieces	not quoted	not quoted	121.42 / 1, HBG Germany	not quoted	not quoted	not quoted
76	Glass pipettes 5ml	12 Pieces	not quoted	not quoted	121.42 / 1, HBG Germany	not quoted	not quoted	not quoted
77	Glass slides	50 Packets	not quoted	112 / packet of 72 pcs, China	75.30 / pack of 50 (1.506 / pack) China	not quoted	not quoted	not quoted
78	Glass Test Tubes 12 100 mm	50 Boxes	not quoted	270 / 100 tube (2.70 / tube) , China	228.57 / Box of 100 tubes, China	not quoted	not quoted	not quoted
79	Glass test tubes 12 75 mm	50 Boxes	not quoted	270 / 100 tube (2.70 / tube) , China	214.28 / Box of 100 tubes, China	not quoted	not quoted	not quoted
80	Glass Test Tubes 18 ' 150 mm	50 pieces	not quoted	not quoted	1214.28 / Box of 100 tubes, China	not quoted	not quoted	not quoted
81	Juster Tips (Yellow)	10000 Pcs	not quoted	180 / pack of 1000 pcs (0.18 / pcs)	0.15 /tip of 1000 tips, China	not quoted	not quoted	169 / box of 1000. (0.17/ pcs) China
82	Juster Tips (0.5 ui)	5000 Pcs	not quoted	not quoted	1 / tip , China	not quoted	not quoted	799 /box of 1000. (0.80 / pcs) China
83	Juster Tips Blue (200μ–1000μ)	5000 Pieces	not quoted	210 / pack of 500 pcs (0.42 / pcs)	0.45 / tip , China	not quoted	not quoted	210 / box of 500 (0.42 / pcs) China.
84	Measuring Cylinder 1000 ml	04 Nos	not quoted	not quoted	642.85 / 1 of 1000 ml (0.64 / ml) China	not quoted	not quoted	not quoted
85	Plastic rack- 36 Holes	4 Pieces	not quoted	not quoted	214.28 / 1 of 50 holes, China	not quoted	not quoted	not quoted
86	Plastic rack- 84 Holes	4 Pieces	not quoted	not quoted	500 / 1, China	not quoted	not quoted	not quoted
87	Tube Bucket (Iron Jar for Sterlizer	05 pi eces	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted
88	Vaccutainer (EDTA,	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 / pcs)	571 / 100 tube (5.71 / tube) Biovech	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac
88-A	Vaccutainer Na-Citrate,	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 / pcs)	not quoted	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac
88-B	Vaccutainer Na-Floride	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 / pcs)	not quoted	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac
88-C	Vaccutainer Plain	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 / pcs)	not quoted	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac
89	Methnal	205 Litters		not quoted	not quoted	not quoted	nat quoted	not quoted
90	Disposable Gloves	200 pcs	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted
91	Saniplast	10,000 Nos	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted
92	Liquid Paraffin	2 Litters	not guoted	not quoted	not quoted	not quoted	not quoted	not quoted

REQUIRED FOR NEW INSTALLED MACHINE "EASY RA AUTO CHEMISTRY ANALYSER"

1	Glucose T Reagent Kit 10201-4	12 Kit	not quoted	not quoted	10300 / Kit of 708 ml (14.548 /ml) Medica USA	not quoted	not quoted	not quoted
2	Blood Urea Nitrogen Reagent Kit 10202-4 E	06 Kit	not quoted	not quoted	20100 / Kit of 780 ml (25.769 / ml) Medica USA	not quoted	not quoted	not quoted
3	Creatinine Reagent Kit 10203-4	06 Kit	not quoted	not quoted	20690 / Kit of 644 ml (32-127 / ml) Medica USA	not quoted	not quoted	not quoted
4	Cholestrol Reagent Kit 10204-4	06 Kit	not quoted	not quoted	14800 / Kit of 864 ml (17.129 / ml) Medica USA	not quoted	not quoted	not quoted

74 2

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER
5	Alanine Aminitranferase Reagent Kit 10205-4	04 Kit	not quoted	not quoted	14600 / Kit of 800 ml (18.25 / ml) Medica USA	not quoted	not quoted	not quoted
6	Total Bilirubin Reagent Kit 10207- 4	04 Kit	not quoted	not quoted	21500 / Kit of 772 ml (27.849 / ml) Medica USA	not quoted	not quoted	not quoted
7	Uric Acid Reagent Kit 10208-4	07 Kit	not quoted	not quoted	22400 / Kit of 780 ml (28.717 / ml) Medica USA	not quoted	not quoted	not quoted
8	Calcium Reagent Kit 10210-4	02 Kit	not quoted	not quoted	13300 / Kit of 328 ml (40.548 / ml) Medica USA	not quoted	not quoted	not quoted
9	HDL Cholestrol Reagent Kit 10211- 4	04 Kit	not quoted	not quoted	91800 / Kit of 464 ml (197.844 / ml) Medica USA	not quoted	not quoted	not quoted
10	Direct Bilirubin Reagent Kit 10212-4	04 Kit	not quoted	not quoted	19500 / Kit of 724 ml (26.933 / ml) Medica USA	not quoted	not quoted	not quoted
11	Total Protien Reagent Kit 10213-4	01 Kit	not quoted	not quoted	11300 / Kit of 640 ml (17.656 / ml) Medica USA	not quoted	not quoted	not quoted
12	Alkaline Phosphatase Reagent Kit 10214-4 E	04 Kit	not quoted	not quoted	15800 / Kit of 640 ml (24.687 / ml) Medica USA	not quoted	not quoted	not quoted
13	Triglycerides Reagent Kit 10216-4	04 Kit	not quoted	not quoted	25900 / Kit of 776 ml (33.376 / ml) Medica USA	not quoted	not quoted	not quoted
14	Albumin Reagent Kit 10218 4	01 Kit	not quoted	not quoted	13000 / Kit of 972 ml (13.374 / ml) Medica USA	not quoted	not quoted	not quoted
15	Gamma - Glutamyl Reagent Kit 10219-4	04 Kit	not quoted	not quoted	36200 / Kit of 876 ml(41.324 / ml) Medica USA	not quoted	not quoted	not quoted
16	Phosphorus Reagent Kit 10221-4	01 Kit	not quoted	not quoted	17900 / Kit of 696 ml (25.718 / ml) Medica USA	not quoted	not quoted	not quoted
17	LDL Cholestrol Reagent Kit 10224-4	04 Kit	not quoted	not quoted	169600 / Kit of 464 ml (365.517 / ml) Medica USA	not quoted	not quoted	not quoted .
18	Hemaglobin A1c 10230-4	02 Kit	not quoted	not quoted	200000 / Kit of 500 ml (400 / ml) Medica USA	not quoted	not quoted	not quoted
19	Chemistry Calibrator - One Vial 5ml 10651 EA	04 Vial	not quoted	not quoted	4300 / Vial, Medica USA	not quoted	not quoted	not quoted
20	Cleaner Kit - Chemistry 10661 EA	04 Vial	not quoted	not quoted	12800 / Vial , Medica USA	not quoted	not quoted	not quoted
21	Surfactant - One Vial 10 ml 10570 EA	04 Vial	not quoted	not quoted	3400 / Vial , Medica USA	not quoted	not quoted	not quoted
22	Cuvette, 50 Segments (Each Segment 12) 10700 EA	10 Segment	not quoted	not quoted	12000 / 1 of 12 Segment, Medica USA	not quoted	not quoted	not quoted
23	Sample Tube Holders - 100 x 16mm 10741 EA	50 Nos	not quoted	not quoted	9600 / 1 of 100 x 16mm, Medica USA	not quoted	not quoted	not quoted
24	Sample Tube Holders - 100 x 13mm 10742 EA	50 Nos	not quoted	not quoted	9600 / 1 of 100x13mm, Medica USA	not quoted	not quoted	not quoted
25	Sample Tube Holders - 75 x 13mm 10743 EA	50 Nos	not quoted	not quoted	9600 / 1 of 75x13mm, Medica USA	not quoted	not quoted	not quoted
26	Precision Test Dye Kit 10764 EA	01 Kit	not quoted	not quoted	11200 / Kit , Medica USA	not quoted	not quoted	not quoted
27	QC, Chem / Elec, Level A.One Vial Sml 10793 EA	05 Vials	not quoted	not quoted	4980 / Vial of 5ml, Medica USA	not quoted	not quoted	not quoted
28	QC, Chem / Elec, Level B.One Vial 5ml 10794 EA	05 Vials	not quoted	not quoted	4980 / Vial of 5 ml, Medica USA	not quoted	not quoted	not quoted
29	Reagent Wedge Caps (50) 10299 EA	100 Caps	not quoted	not quoted	4000 / 50 Caps, Medica USA	not quoted	not quoted	not quoted

2 2

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER
30	Duel Reagent Wedge Kit 10295 EA	100 Krt	not quoted	not quoted	2000 / Kit , Medica USA	not quoted	not quoted	not quoted
31	Single Reagent Wedge Kit 10290 EA	100 Kit	not quoted	not quoted	2000 / Kit , Medica USA	not quoted	not quoted	not quoted
32	Sample Cups 2.0 ml (500pcs) 2596 EA	100 Cups	not quoted	not quoted	11016 / 1 of 500 pcs (22.032 / pcs.) Medica USA	not quoted	not quoted	not quoted
33	HBA1C Quality Control Kit Level 1 10795 EA	01 Kit	not quoted	not quoted	40000 / Vial, Medica USA	not quoted	not quoted	not quoted
34	HBA1C Quality Control Kit Level 2 10796 EA	01 Kit	not quoted	not quoted	40000 / Vial , Medica USA	not quoted	not quoted	not quoted
35	Chemistry HbA1c Calibrator Kit 10658 EA	01 Kit	not quoted	not quoted	40000 / Vial , Medica USA	not quoted	not quoted	not quoted

DR. ZUBAIR AHMED AGHA

Member R.M.O General Services Hospital Karachi

MR. AZIZ MUSTAFA SHAIKH

Member Assistant Accountant General Sindh Representative of A.G. Sindh

MR. JREAN AHMED SHAH

Member Senior Pharmacist Services Hospital Kafachi

ASSISTANT COMMISSIONER ARAM BAHGH
Mehrust
Representative of Deputy Commissioner South

DR. MANZOOR AHMED MEMON

Chairman Additional Civil Surgeon Services Hospital Karachi.



OFFICE OF THE MEDICAL SUPERINTENDENT & CIVIL SURGEON, SERVICES HOSPITAL KARACHI MINUTES OF MEETING OF CONSUMABLE / LABORATORY ITEMS FOR THE ANNUAL TENDER 2017-18



APPROVED ITEMS RECOMMENDED BY TECHNICAL COMMITTEE

ANNEXURE-C

			1	2	3	T ====================================	5	6	7
SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
1	Hematology Analyzer Diluents (J.T. Baker)	30 Packs	not quoted	not quoted	18400/pack of 20 Ltr (920/ml) Nihon Kohidon Japan/Italy	9000 / Kit of 20 ltr (0.45 / ml) Human Germany	not quoted	not quoted	Technical committed (Consultant/ End users) he recommended that the product of 1 st lowest do not gasatisfactory results in availal Machine. As the 2 rd lowe offered by M/s Nation Agencies product is a test Chemical/Reagent a satisfactory results in the Laboratory Hence 2 rd lowe was approved by purchacommittee on basis Laboratory trial.
2	Triplex (EDTA)	01 Kg	not quoted	not quoted	1428.57/Kg R.D.H	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approv by purchase committee
3	A . S. O. T100 Test	06 Kits	not quoted	not quoted	2357.14/Pack of 100 Test (23.57/Test) Q.C.A Germany	2664 / Kit of 100 test (26.64 / test) Human Germany	1690 / kit of 100 test (16.90 / test) Linear Chemicals spain	1490/Kit of 100 test (14.90/ test) SBIO	1st lowest M/s Three Star Me Supplier was approved by purchase committee as per specification
4	A.P.T.T Kit	2 Kit	not quoted	not quoted	5571.42/Kit of 40ml (139.28/ml) Q.C.A Germany	4499 / Kit of 6x4 ml (187.45 / ml) Human Germany	5230 / kit of 10x4 ml (130.75 / test) Linear Chemicals spain	not quoted	1 st lowest M/s Seico Scientifi was approved by purchase committee as per specification
5	Albumin Kit 2'250ml	03 Kits	not quoted	not quoted	2314.28/kit of 3x100ml (7.71/ml) Q.C.A Germany	2202 / Kit of 1000 ml (2.20 / ml) Human Germany	1110 / kit of 4x100 ml (2.75 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Popular international was approved by purchase committee as per specification
6	Alkaline phosphate	10 Kits	3361/Kit of 150 ml (22.41 /ml), ERBA	not quoted	2769/Kit of 3x50ml (18.46/ml) Gesan Italy	7403 / Kit of 4x250 ml (7.40 / ml) Human Germany	1110 / kit of 3x100 ml (3.66 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Seico Scientifi was approved by purchase committee as per specification
7	ALT (SGPT)	12 Kits	3240/ Kit of 250 ml (12.96 / ml) ERBA	not quoted	8485.71/Kit of 940ml (9.02/ml) Q.C A Germany	6304 / Kit of 4x250 ml (6.30 / ml) Human Germany	1940 / kit of 3x100 ml (6.466 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Popular international was approved by purchase committee as per specification

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
8	Amylase	01 Kit	not quoted	not quoted	9857.14/Kit of 120ml (82.14/ml) Q.C.A Germany	7322 / Kit of 12x10 ml (61.02 / ml) Human Germany	2180 / kit of 5x20 ml (21.80 / ml) Linear Chemicals spain	not quoted	1 st lowest M/s Seico Scientific was approved by purchase committee as per specification
9	Anti HCV (Elisa)	20 Kits	not quoted	not quoted	not quoted	4300 / Kit of 96 test (44.79 / test) Acon USA	2990 / kit of 96 test (31.115 / test) AutoBio	not quoted	1 ^d lowest M/s Seico Scientific was approved by purchase committee as per specification
10	Anti-Sera "A"	20 Bottles	not quoted	not quoted	242.85/Vial of 10ml Biotech	not quoted	not quoted	235/ bottl of 10ml (23.5/ml) SBIO	1 st lowest M/s Three Star Med Supplier was approved by purchase committee as per specification
11	Anti-Sera "B"	20 Bottles	not quoted	not quoted	242.85/Vial of 10ml Biotech	not quoted	not quoted	235/ bottl of 10ml (23.5/ml) SBIO	1st lowest M/s Three Star Med Supplier was approved by purchase committee as per specification
12	Anti-Sera "D"	15 Bottles	not quoted	not quoted	500/Vial of 10ml Biotech	not quoted	not quoted	325/Bottl of 10ml (32.5/ml) SBIO	1 ^d lowest M/s Three Star Med Supplier was approved by purchase committee as per specification
13	Barium Chloride	01 Bottle	not quoted	not quoted	357.14/Bottle of 500ml (0.71/ml) Biorays	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
14	Blood Urea (End point) Kit	10 Kits	not quoted	not quoted	5000/Kit of 4x125ml (10/ml) Spinclour	6089 / Kit of 2x1000 ml (3.045 / ml) Human Germany	2130 / kit of 4x100 ml (5.325 / ml) Linear Chemicals spain	not quoted	1 st lowest M/s Popular international was approved by purchase committee as per specification
15	Calcium Kit	04 Kits	not quoted	not quoted	2914.28/Kit of 200ml (29.14/ml) Q.C.A Germany	1320 / Kit of 200 ml (6.60 / ml) Human Germany	1810 / kit of 4x100 ml (4.525 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Scico Scientific was approved by purchase committee as per specification
16	Chemistry control (High, Low, Normal)	20 Boxes	7550/ set of 4x5 ml (377.50 /ml) ERBA , Normal / Path	not quoted	not quoted	5098 / Box of 6x5 ml (169.92 / ml) Normal Control & Abnormal Control, Human Germany	not quoted	not quoted	1st Iowest M/s Popular international was approved by purchase committee as per specification
17	Cholesteral Kit 2 100ml	12 Kits	not quoted	not quoted	5571.42/Kit of 2x250ml (11.14/ml) Q.C.A Germany	3202 / Kit of 4×100 ml (8 / ml) Human Germany	6040 / kit of 4x250 ml (6.04 / ml) Linear Chemicals spain	not quoted	
									1st lowest M/s Seico Scientific was approved by purchase committee as per specification

SR. NO.	NAME OF LAB	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
18	Cleaning Solution	15 bottles	not quoted	not quoted	5000/Pack of 1000ml (6/ml) Nihon Kohidon Japan/Italy	4800 / Bottl of 1 litr (4.80 / ml) Human Germany	not quoted	not quoted	Technical committee (Consultant End users) has recommended that the product of 1st lowest do not gave satisfactory results in available Machine. As the 2nd lowest offered by M/s. National Agencies product is a tested Chemical/Reagent and satisfactory results in the Laboratory Hence 2nd lowest was approved by purchase committee on basis of Laboratory trial.
19	Cleaning Solution (Easylite) 1x90ml	06 Pieces	not quoted	not quoted	8000/Kit of 12pcs Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
20	Dengue fever Kit device	05 Kits	not quoted	8600 / Kit of 40 test (215 / test) Acu-chek, USA	4285.50/Kit of 25 test (171.42/Test) Healgen	16254 / Kit of 25 test (650.16 / test) Human Germany	not quoted	not quoted	1" lowest M/s National Agencies was approved by purchase committee as per specification
21	D-ionized Water	30 Liters	not quoted	not quoted	50/Liter	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
22	Field Stain A	06 Bottles	not quoted	not quoted	535.71/Bottle of 500ml (1.07/ml Biorays	not quoted	not quoted	699 /Bottl of 500ml (1.398/ml) Diachem / Medilike	1 dowest M/s National Agencies was approved by purchase committee as per specification
23	Field Stain B	06 Bottles	not quoted	not quoted	535.71/Bottle of 500ml (1.07/ml Biorays	not quoted	not quoted	699 /Bottl of 500ml (1.398/ml) Diachem / Medilike	1 all lowest M/s National Agencies was approved by purchase committee as per specification
24	Fouchist reagent 250ml Bottle	02 Bottles	not quoted	not quoted	1428.57/Bottle of 500ml (2.85/ml) Biorays	not quoted	not quoted	not quoted	1" lowest M/s National Agencies was approved by purchase committee as per specification
25	Gama GT Kit	10 Kits	3158 / Kit of 100 mi (31.58 / ml) ERBA	not quoted	3046/Kit of 3x50mi (20.306/ml)Gesan	9936 / Kit of 4x250 ml (9.94 / ml) Human Germany	3290/ kit of 3x100 ml (10.966 / ml) Linear Chemicals spain	not quoted	1 ⁸ Iowest M/s Popular international was approved by purchase committee as per specification
26	Glucose Kit (4 250ml)	10 Kits	5065 / Kit of 1000 ml (5.06 / ml) ERBA	not quoted	1714.28/Kit of 4x250ml (1.71/ml) Biomed	3953 / Kit of 1000 ml (3.95 / ml) Human Germany	1570 / kit of 4x250 ml (1.57 / ml) Linear Chemicals spain	1599/Kit of 1000ml (1-599 /ml) SBIO	1st lowest M/s Seico Scientific was approved by purchase committee as per specification

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
27	Haematology controlls (Low, Normal, High)	One Set	not quoted	not quoted	6500/Vial each vial of 2.0ml Nihon Kohidon	22200 / Set of 3x2.5 ml (2775 / ml) Human Germany	not quoted	not quoted	Technical committee (Consultant End users) has recommended that the product of 1st lowest do not gave satisfactory results in available Machine As the 2nd lowest offered by M/s. National Agencies product is a tested Chemical Reagent and satisfactory results in the Laboratory Hence 2nd lowest was approved by purchase committee on basis of Laboratory trial.
28	Hb A 1C	20 Kits	not quoted	not quoted	not quoted	18000 / Kit of 100 test (180/ test) Human Germany	7430 / kit of 25 test (297.20 / test) Linear Chemicals spain	not quoted	1st lowest M/s Popular international was approved by purchase committee as per specification
29	Hbs Ag (Elisa)	20 Kits	not quoted	not quoted	2428.57/Kit of 96 Test (25.29/Test) CDC	2728 / Kit of 96 test (28.42 / test) Acon USA	1730 / kit of 96 test (18.020 / test) AutoBio	not quoted	1st lowest M/s Seico Scientific was approved by purchase committee as per specification
30	HDL Kit 4'80	03 Kits	not quoted	not quoted	6428.57/Kit of 250ml (25.71/ml)Merck	8584 / Kit of 80 ml (107.30 / ml) Human Germany	700 / kit of 2x40 ml (8.75 / ml) Linear Chemicals spain	not quoted	1 st lowest M/s Seico Scientific was approved by purchase committee as per specification
31	Hemoglobin Kit 1 5000 ml	O2 Kits	not quoted	not quoted	1714/Kit of 03 Ltr (571.33/Ltr) Q.C.A Germany	3340 / Kit of 10x500 ml (0.67 / ml) Human Germany	670 / kit of 2 x 5 ml (67 / test) Linear Chemicals spain	not quoted	1st lowest M/s Popular international was approved by purchase committee as per specification
32	Hepatitis – B Chromatography method (Strip)	100 Kits (40 tests)	760 / Kit of 40 test (19.00 / test) Accurate	619 / Kit of 40 test (15.475 / test) Acu-chek, USA	339.28/Kit of 25 Tests (13.57/Test) Healgen	not quated	not quoted	600/Kit of 40 test (14.99 / test) Fastep	1 ⁴ lowest M/s National Agencies was approved by purchase committee as per specification

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
33	Hepatitis – C Chromatography method	100 Kit (40 tests)	1320 / Kit of 40 test (33 / test) Accurate	1019 / Kit of 40 test (25.475 / test) Acu- chek, USA	678.57/Kit of 25 Tests (27.14/Test) Healgen	not quoted	not quoted	1000/Kit of 40 test (24 99 / test) Fsatp	Technical committee (Consultant End users) has recommended that the product of 1st lowest do not gave satisfactory results in available Machine. As the 2st lowest offered by M/s MOD Scientific Traders product is a tested Chemical/Reagent and satisfactory results in the Laboratory Hence 2st lowest was approved by purchase committee on basis of Laboratory trial.
34	Easylite Reagent 400mi Pack size		not quoted	not quoted	31000/Pack of 400ml (77.50/ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
35	Easylite Cleaning Reagent		not quoted	not quoted	8000/Pack Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
36	Laishman stain	01 Kit	not quoted	not quoted	642.85/Kit of 500ml (1.28/ml) Biorays	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
37	LDL Kit	10 Kits	not quoted	not quoted	6714.28/Kit of 250ml (26.85/ml)Merch	14528 / Kit of 80 ml (181.61 / ml) Human Germany	950 / kit of 2x50 ml (9.50 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Seico Scientific was approved by purchase committee as per specification
38	Lysing Reagent	30 Bottles (800cc)	not quoted	not quoted	30000/Bottle of 1000ml (30/ml) Nihon Kohidon	9000 / Bottl of 1 litr (9 / ml) Human Germany)	not quoted	not quoted	Technical committee (Consultant End users) has recommended that the product of 1st lowest do not gave satisfactory results in available Machine. As the 2st lowest offered by Mrs. National Agencies product is a tested Chemical/Reagent and satisfactory results in the Laboratory. Hence 2st lowest was approved by purchase committee on basis of Laboratory trial.

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
39	Multistix SG / Combur-T	100 Bottles	1345 / bottle of 100 strips (13.45 / test) ERBA	575 / bottl of 100 strip (5.75 / strip) combistic k, korea	557.14/Bottle of 100 Test (5.57/Test) Accu Quik USA	510 / Bottl of 100 test (5.10 / test) Acon USA	not quoted	849 /Bottl of 100 test (8.49 /test) DFI Korea	Technical committee (Consultant/ End users) has recommended that the product of 1 st lowest do not gave satisfactory results in available Machine. As the 3rd lowest offered by M/s. MOD Scientific Trader's product is a tested Chemical/Reagent and satisfactory results in the Laboratory Hence 3rd lowest was approved by purchase committee on basis of Laboratory trial.
40	Pregnancy Kit 100 Test	15 Kits	not quoted	not quoted	2428.57/Kit of 100 Test (24.28/Test) Lab Test Lab test	not quoted	not quoted	279 / Kit of 1x50 (5.58 / ml) Fastep / Imported	1" lowest M/s Three Star Med Supplier was approved by purchase committee as per specification
41	Prothrombin Time Kit	2 Kits	not quoted	not quoted	3714.28 / Kit of 10x20 ml (185.71/ ml) Q.C.A Germany	4361 / Kit of 6x2ml (363.40 / ml) Human Germany	6330 / kit of 10x5 ml (126.60 / ml) Linear Chemicals spain	579/Kit of Sml (115.80 /ml) SBIO	Technical committee (Consultant' End users) has recommended that the product of 1" lowest do not gave satisfactory results in available Machine. As the 2" lowest offered by M/s. Sieco Scientific's product is a tested Chemical/Reagent and satisfactory results in the Laboratory Hence 2" lowest was approved by purchase committee on basis of Laboratory trial.
42	R . A Factor 100 Test	10 Kits	not quoted	not quoted	2142.85 / Kit of 100 test (21.42 / test) Q.C.A Germany	1740 / Kit of 100 test (17.40 / test) Human Germany	1230 / kit of 100 test (12.30 / test) Linear Chemicals spain	1499 / Kit of 100 test (14 99/ test) SBIO	1 st lowest M/s Scico Scientific was approved by purchase committee as per specification
43	Salfosalicylic Acid	01 Kg Powder	not quoted	not quoted	8571.42 / Kg , R.D.H	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
44	Serum Creatinine (2'500 ml)	06 Kits	not quoted	not quoted	5571.42 / Kit of 4x30 ml (5.57 / ml) Gesan / Italy	1680 / Kit of 2x100 ml (8.40 / ml) Human Germany	1270 / kit of 4x250 ml (1.27 / ml) Linear Chemicals spain	not quoted	1s lowest M/s Seico Scientific was approved by purchase committee as per specification
45	Serum Phosphorus	2 Kits	not quoted	not quoted	2569 /Kit of 4x30 ml (21.408 / ml) Gesan / Italy	1740 / Kit of 200 ml (8.70 / ml) Human Germany	980 / kit of 3x50 ml (6 534 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Seico Scientific was approved by purchase committee as per specification
47	Sodium Citrate	01 Kg	not quoted	not quoted	1285.71 / Kg, R.D.H	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
48	Total Blirubin 2'625	06 Kits	not quoted	not quoted	3571.42/ Kit of 600ml (5.95 / ml) Gesan	1441 / Kit of 200 ml (7.21 / ml) Human Germany	750 / kit of 2x100 ml (3.75 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Seico Scientific was approved by purchase committee as per specification
49	Total Protein Kit 2 500ml	03 Kits	not quoted	not quoted	2857.14 / Kit of 3x50ml (9.52 / ml) Gesan / Italy	2790 / Kit of 1000 ml (2.79 / ml) Human Germany	1650 / kit of 4x250 ml (1.65 / ml) Linear Chemicals spain	not quoted	1" lowest M/s Seico Scientific was approved by purchase committee as per specification
50	Triglyceride (Human)	10 Kits	not quoted	not quoted	8821.42 / Kit of 300ml (29.40 / ml) Q.C.A Germany	3478 / Kit of 4x100 ml (8.69 / ml) Human Germany	5490 / kit of 4x100 ml (13.725 / ml) Linear Chemicals spain	not quoted	Technical committee (Consultant End users) has recommended that the product of 1st lowest do not gave satisfactory results in available Machine. As the 2st lowest offered by M/s. Seico Scientific product is a tested Chemical/Reagent and satisfactory results in the Laboratory Hence 2st lowest was approved by purchase committee on basis of Laboratory trial.
51	Uric Acid Kit	06 Kits	not quoted	not quoted	5714.28 / Kit of 300ml (19.04 / ml) Q.C.A Germany	3166 / Kit of 4x100 ml (7.91 / ml) Human Germany	5280 / kit of 4x250 ml (5.280 / ml) Linear Chemicals spain	not quoted	1 ^d lowest M/s Seico Scientific was approved by purchase committee as per specification
52	S. Ferritin	10 Kits	not quoted	not quoted	4142.85 /Kit of 200ml (20.71 / ml) Q.C.A Germany	not quoted	8050 / kit of 96 test (83.844 / test) Wantai China	not quoted	I" lowest M/s National Agencies was approved by purchase committee as per specification
53	Widal Test TO, TH, AO, AH, BO, BH	15 Sets	5000 / Kit of 6x5 ml (8.33 / test) Lab Diagnostic	not quoted	4714.28 / set , Q.C.A Germany	4946 / Set of 6x5 ml (164.88 / ml) Human Germany	2270 / kit of 6x5 ml (75.666 / ml) Linear Chemicals spain	not quoted	1st lowest M/s Seico Scientific was approved by purchase committee as per specification
54	Xylene 2.5 Lit Bottle	01 Bottles	not quoted	not quoted	2000 / Bottle of 2.5 ltr (800 / ltr) R.D.H	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee

SR. NO.	NAME OF LAB	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
					MICROBIOLOGY SEC	CTION			
55	Cuiture Swabe	2 Boxes	not quoted	not quoted	642.85 / Box , China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
56	Flask Flat Bottom 3 litter	12	not quoted	not quoted	1285.71 / 1 , China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
57	Flask Flat Bottom 5 litter	6	not quoted	not quoted	5142.85 / 1, China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
58	Forcep	6	not quoted	not quoted	71.42 / 1, Pak made	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
59	Test Tube 12/11	2 Boxes	not quoted	not quoted	228.57 / Box of 100's, China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
60	Test tube 12/75	2 Boxes	not quoted	not quoted	214.28 / Box of 100's, China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
61	Urine Container	1000	not quoted	9.40 / container of 250 pcs, Pak made	15.38 / pack of 100's, Pak made	not quoted	not quoted	899 / 1000 nos.of 100 (8.99 / 1) Local	1 ^a lowest M/s Three Star Med. Supplier was approved by purchase committee as per specification
62	Volumetric Flask	2	not quoted	not quoted	1071.42 / no. of 250ml (4.28 / ml) China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
					GLASSWARE ITE	MS			,
63	Cover Slip for improved neumber counting	10 Packs	not quoted	not quoted	1714.28 / pack of 10 , Germany	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
64	Beaker 1000 ml	04 Nos	not quoted	not quoted	285.71 / 1, China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
65	Common Sample Cup for storage	5000 each	not quoted	not quoted	not quoted	not quoted	not quoted	399 / box (0.40 / 1) China	Only one bidder M/s Three Star Med. Supplier offered rate, approved by purchase committee

SR. NO.	NAME OF LAB	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
66	Cover Slip 18 18, (10×100 per Boxes)	05 Boxes	not quoted	not quoted	1384 / Box of 1000 (1.384 / no.) China	not quoted	not quoted	89 / pkt of 1x72 Pcs (1.24 / pcs) China	I" lowest M/s Three Star Med Supplier was approved by purchase committee as per specification
67	Vacuette E S R disposable pipetes	8000 Nas	18.25 / each of 1x50, Greiner Bio-One	not quoted	19.28/ Box of 200, Gerner	not quoted	not quoted	not quoted	1 st lowest M/s Jaf & Co. was approved by purchase committee as per specification
68	E S R Stand	5 Pieces	not quoted	not quoted	642.85 / 1, Pak made	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
69	ESR pipites	5 Dozen	not quoted	not quoted	514.28 / Dzn , China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
70	Electrodes Na, K, Cl	03 Each	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted	Not Quoted
71	Filter paper	05 Packets	not quoted	not quoted	357.14 / Box of 100's, imported	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
72	Glass Pipetes 0.5 ml	12 Pieces	not quoted	not quoted	107.14 / 1, HBG Germany	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
73	Glass Pipetes 1ml	12 Pieces	not quoted	not quoted	107.14 / 1, HBG Germany	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
74	Glass Pipetes 2ml	12 Pieces	not quoted	not quoted	107.14 / 1, HBG Germany	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
75	Giass pipettes 10 ml Volume	12 pieces	not quoted	not quoted	121.42 / 1, HBG Germany	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
76	Glass pipettes 5ml	12 Pieces	not quoted	not quoted	121.42 / 1, HBG Germany	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
77	Glass slides	50 Packets	not quoted	112 / packet of 72 pcs, China	75.30 / pack of 50 (1.506 / pack) China	not quoted	not quoted	not quoted	1 st lowest M/s National Agencies was approved by purchase committee as per specification
78	Glass Test Tubes 12 * 100 mm	50 Boxes	not quoted	270 / 100 tube (2.70 / tube) , China	228.57 / Box of 100 tubes, China	not quoted	not quoted	not quoted	1st lowest M/s National Agencies was approved by purchase committee as per specification

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
79	Glass test tubes 12 75 mm	50 Boxes	not quoted	270 / 100 tube (2.70 / tube) , China	214.28 / Box of 100 tubes, China	not quoted	not quoted	not quoted	1" lowest M/s National Agencies was approved by purchase committee as per specification
80	Glass Test Tubes 18 ⁻ 150 mm	50 pieces	not quoted	not quoted	1214-28 / Box of 100 tubes, China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate approved by purchase committee
81	Juster Tips (Yellow)	10000 Pcs	not quoted	180 / pack of 1000 pcs (0.18 / pcs)	0.15 /tip of 1000 tips, China	not quoted	not quoted	169 / box of 1000. (0.17/ pcs) China	t [#] lowest M/s National Agencies was approved by purchase committee as per specification
82	Juster Tips (0.5 vi)	5000 Pcs	not quoted	not quoted	1 / tip , China	not quoted	not quoted	799 /box of 1000. (0.80 / pcs) China	1" lowest M/s Three Star Med Supplier was approved by purchase committee as per specification
83	Juster Tips Blue (200µ–1000µ)	5000 Pieces	not quoted	210 / pack of 500 pcs (0.42 / pcs)	0.45 / tip , China	not quoted	not quoted	210 / box of 500 (0.42 / pcs) China.	1 st lowest M/s MOD Scientific was approved by purchase committee as per specification
84	Measuring Cylinder 1000 ml	04 Nos	not quoted	not quoted	642.85 / 1 of 1000 ml (0.64 / ml) China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
85	Plastic rack- 36 Holes	4 Pieces	not quoted	not quoted	214.28 / 1 of 50 holes, China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
86	Plastic rack- 84 Holes	4 Pieces	not quoted	not quoted	500 / 1, China	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
87	Tube Bucket (Iron Jar for Sterlizer)	05 pi eces	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted	Not Quoted
88	Vaccutainer (EDTA,	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 , pcs)	/ 571 / 100 tube (5.71 / tube) Biovech	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac	I" lowest M/s MOD Scientific was approved by purchase committee as per specification
88-A	Vaccutainer Na-Citrate,	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 , pcs)	not quoted	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac	1° lowest M s MOD Scientific was approved by purchase committee as per specification
88-B	Vaccutainer Na-Floride	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 pcs)	not quoted	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac	16 lowest M/s MOD Scientific was approved by purchase committee as per specification

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
88-C	Vaccutainer Plain	20,000 each	17.50 / each of 1x50, Greiner Bio-One	524 / pack of 100 (5.24 / pcs)	not quoted	7.50 / tube, Archimed Lab UK	not quoted	549 / box of 100 (5.49 / no.) Bio-Vac	1st lowest M/s MOD Scientific was approved by purchase committee as per specification
89	Methnal	205 Litters	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted	Not Quoted
90	Disposable Gloves	200 pcs	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted	Not Quoted
91	Saniplast	10,000 Nos	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted	Not Quoted
92	Liquid Paraffin	2 Litters	not quoted	not quoted	not quoted	not quoted	not quoted	not quoted	Not Quoted
				REQUIRED FOR I	NEW INSTALLED MACHINE "EA	ASY RA AUTO CHEMISTRY ANAL	YSER"		
1	Glucose T Reagent Kit 10201-4	12 Kit	not quoted	not quoted	10300 / Kit of 708 ml (14.548 /ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
2	Blood Urea Nitrogen Reagent Kit 10202-4 E	06 Kit	not quoted	not quoted	20100 / Kit of 780 ml (25.769 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate approved by purchase committee
3	Creatinine Reagent Kit 10203-4 E	06 Kit	not quoted	not quoted	20690 / Kit of 644 ml (32.127 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
4	Cholestrol Reagent Kit 10204-4	06 Kit	not quoted	not quoted	14800 / Kit of 864 ml (17.129 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
5	Alanine Aminitranferase Reagent Kit 10205-4	04 Kit	not quoted	not quoted	14600 / Kit of 800 ml (18.25 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
6	Total Bilirubin Reagent Kit 10207-4	04 Kit	not quoted	not quoted	21500 / Kit of 772 ml (27.849 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
7	Uric Acid Reagent Kit 10208	07 Kit	not quated	not quoted	22400 / Kit of 780 ml (28.717 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
8	Calcium Reagent Kit 10210- 4	02 Kit	not quoted	not quoted	13300 / Kit of 328 ml (40.548 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
9	HDL Cholestrol Reagent Kit 10211-4	04 Kit	not quoted	not quoted	91800 / Kit of 464 ml (197.844 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee

SR. NO.	NAME OF LAB ITEMS	REQUIRED	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
10	Direct Bilirubin Reagent Kit 10212-4	04 Kit	not quoted	not quoted	19500 / Kit of 724 ml (26.933 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
11	Total Protien Reagent Kit 10213-4	01 Kit	not quoted	not guoted	11300 / Kit of 640 ml (17.656 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
12	Alkaline Phosphatase Reagent Kit 10214-4 E	04 Kit	not quoted	not quoted	15800 / Kit of 640 ml (24.687 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
13	Triglycerides Reagent Kit 10216-4	04 Kit	not quoted	not quoted	25900 / Kit of 776 ml (33.376 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
14	Albumin Reagent Kit 10218-4	01 Kit	not quoted	not quoted	13000 / Kit of 972 ml (13.374 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
15	Gamma - Glutamyl Reagent Kit 10219-4	04 Kit	not quoted	not quoted	36200 / Kit of 876 ml(41.324 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
16	Phosphorus Reagent Kit 10221-4	01 Kit	not quoted	not quoted	17900 / Kit of 696 ml (25.718 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
17	LDE Cholestrol Reagent Kit 10224-4	04 Kii	not quoted	not quoted	169600 / Kit of 464 ml (365.517 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
18	Hemaglobin A1c 10230-4	02 Kit	not quoted	not quoted	200000 / Kit of 500 ml (400 / ml) Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
19	Chemistry Calibrator - One Vial 5ml 10651 EA	04 Vial	not quoted	nat quated	4300 / Vial, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
20	Cleaner Kit - Chemistry 10661 EA	04 Vial	not quoted	not quoted	12800 / Vial , Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
21	Surfactant - One Vial 10 ml 10670 EA	04 Vial	not quoted	not quoted	3400 / Vial , Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
22	Cuvette, 50 Segments (Each Segment 12) 10700 EA	10 Segment	not quoted	not quoted	12000 / 1 of 12 Segment, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
23	Sample Tube Holders - 100 x 16mm 10741 EA	50 Nos	not quoted	not quoted	9600 / 1 of 100 x 16mm, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
24	Sample Tube Holders - 100 x 13mm 10742 EA	50 Nos.	not quoted	not quoted	9600 / 1 of 100x13mm, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
25	Sample Tube Holders - 75 x 13mm 10743 EA	50 Nos.	not quoted	not quoted	9600 / 1 of 75x13mm, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
26	Precision Test Dye Kit 10764 EA	01 Kit	not quoted	not quoted	11200 / Kit , Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
27	QC. Chem / Elec, Level A.One Vial 5ml 10793 EA	05 Vials	not quoted	not quoted	4980 / Vial of 5ml, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
28	QC, Chem / Elec, Level B.One Viai 5ml 10794 EA	05 Vials	not quoted	not quoted	4980 / Vial of 5 ml, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
29	Reagent Wedge Caps (50) 10299 EA	100 Caps	not quoted	not quoted	4000 / 50 Caps, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
30	Duel Reagent Wedge Kit 10295 EA	100 Kit	not quoted	not quoted	2000 / Kit , Medica USA	not quoted	not quated	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
31	Single Reagent Wedge Kit 10290 EA	100 Kit	not quoted	not quoted	2000 / Kit , Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
32	Sample Cups 2.0 ml (500pcs) 2596 EA	100 Cups	not quoted	not quoted	11016 / 1 of 500 pcs {22.032 / pcs.} Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
33	HBA1C Quality Control Kit Level 1 10795 EA	01 Kit	not quoted	not quoted	40000 / Vial, Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee

SR. NO.	NAME OF LAB ITEMS	REQUIRED QTY	JAF&CO.	MOD SCIENTIFIC TRADERS	NATIOINAL AGENCIES	PAPULAR INTERNATIONAL	SEICO SCIENTIFIC TRADERS	THREE STAR MEDICAL SUPPLIER	REMARKS
34	HBA1C Quality Control Kit Level 2 10796 EA	01 Kii	not quoted	not quoted	40000 / Vial , Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee
35	Chemistry HbA1c Calibrator Kit 10658 EA	01 Kit	not quoted	not quoted	40000 / Vial , Medica USA	not quoted	not quoted	not quoted	Only one bidder National Agencies offered rate, approved by purchase committee

Members of Technical Committee:-

DR. SHAHEEN JAWAD Ex-Pathalogist Services Hospital Karachi Member

DR. SHOAIB \$1

E.N.T Specialist Services Hospital Karachi Member

DR. SHAGUFTA YASMEEN Peddiatrician Services Hospital Karachi Member

DR FOUZIA SHERAZI Pharmacist Services Hospital Karachi Member

Members of Procurement Committee:-

DR. ZUBAIR AHMED AGH Medical Officer

Member Member R.M.O Residental Meneral

Services Hospital Karacia Hospital, Karacia

MR. AZIZ MUSTAFA SHAIKH

Assistant Accountant General Sindh Representative of A.G. Sindh

DR. MANOOR ADDIED MEMON Chairman Additional Civil Surgeon

Services Hospital Karachi

MR. URI ATIMED SHAH

Services Hospital Karachi macist Sund Govi, Services Hospital Karachi macist Sunda Govi, Services Hospital Standa Govi, Services Hospital

ASSISTANT COMMISSIONER ARAM BAHGH

Representative of Spaty Commissioner South

TELEPHONE NO:99215789. OFFICE OF THE MEDICAL SUPERINTENDENT SERVICES HOSPITAL AND CIVIL SURGEON, KARACHI. NO. SHK/- 5652 / DATED THE 21-69 ~ 2017.

MINUTES OF MEETING

ANNUAL TENDER FOR THE PURCHASE OF CONSUMABLE LABORATORY KITS & CHEMICAL ITEMS FOR THE YEAR 2017-18.

Reference Tender No. SHK/ANNUAL TENDER, 2017-18/3474.

Pursuant to Advertisement for Laboratory Kits & chemicals in daily Kawish and daily Dawn dated 12-07-2017 (copies attached). A meeting of the Hospital procurement committee under the chairmanship of Dr. Manzoor Ahmed Memon Add: Civil Surgeon of Services Hospital, Karachi, Sindh, were held on 29th July 2017, in conference hall of the Hospital, In the presence of bidders/ participants the technical bids were opened. Total 10 bids received.

Procurement Committee:-

Dr. Manzoor Ahmed Memon Add. Civil Surgeon, SHK

Dr. ZubairAhmed Agha

Irfan Ahmed Shah Sr. Pharmacist. SHK

RMO (General) SHK

Mr. Aziz Mustafa Shaikh AssistantAccountant general Representative of AG Sindh.

Assistant Commissioner Arambagh Representative Deputy Commissioner South, Karachi. Chairman

Residental Medical Officer

Member (General)

Member Hospital, Karach

Member

Member

Member

The following bidders submitted their bids.

Sr.#	Name of Bidder		
1	M/S ATH Enterprises		
2	M/S I.R Scientific International		
3	M/S Jaf & Co		
4	M/S Mod Enterprises		
5	M/S MHK Enterprises		
6	M/S National Agencies		
7	M/S Popular International		
8	M/S Saad Sales		
9	M/S Seico Scientific		
10	M/S Three Star Medical Supplies		

After evaluation and scrutinizing as per criteria following six (06) firms were qualified.

Sr.#	Name of Bidder		
1	M/S Jaf & Co		
2	M/S Mod Enterprises		
3	M/S National Agencies		
4	M/S Popular International		
5	M/S Seico Scientific		
6	M/S Three Star Medical Supplies		

Following Four (04) firms were disqualified

Sr.#	Name of Bidder
1	M/S ATH Enterprises
2	M/S 1.R Scientific International
3	M/S MHK Enterprises
4	M/S Saad Sales

After the completion of technical evaluation at (Annexure-A) the financial bids of the qualified bidders were opened before Procurement Committee on 07th August 2017, in presence of bidders/ participants. Procurement Committee decided to constitute a Technical Committee consists of Consultants/ End users to examine each offer technically, and accordingly give its recommendations to procurement committee with solid reasons for acceptance or otherwise.

The Procurement Committee proposed following Technical Committee

Members of Technical committee:-

Dr. Shaheen Jawad

Ex: Pathologist

Dr. Shoaib Sultan

Cardiologist

Dr. Faheem Bhatti

E.N.T Specialist

Dr. Shagufta Yasmeen

Pediatrician

Dr. Fouzia Shirazi

Pharmacist

After the completion of financial comparative statement, The Technical Committee given following recommendations /proposals to Procurement Committee (Annexure-B & C) as in Comparative Statement and Minutes by Technical Committee.

MEDICAL SUPERINTENDENT SERVICES HOSPITAL & CIVIL SURGEON KARACHI

Copy forwarded for information to:-

01. The Secretary Government of Sindh Health Department, Karachi.

02. The A.G Sindh, Karachi.

03. The Managing Director, Sindh Public Procurement Regulatory Authority, Karachi.

04. Office Copy.

MEDICAL SUPERINTENDENT SERVICES HOSPITAL & CIVIL SURGEON KARACHI



GOVERNMENT OF SINDH HEALTH DEPARTMENT

NOTIFICATION

No.SO(PM&1)2-1/16-17/PM-15 (SHK): A Procurement Committee under Rules-7 of Sindh Public Procurement Rules 2010 (Amended 2017) is hereby constituted comprising the following procurement committee for purchase of Medicine (15% L.P.) / Medical Gas / Dietary Items, General Items & Uniform / Liveries and consumable (Lab). for the financial year 2017-18 at Services Hospital & Civil Surgeon, Karachi.

L 01.	Dr. Manzoor Ahmed Memon A.C.S-II	Chairman
l _{02.}	Dr. Zubair Ahmed Agha R.M.O (G)	Member
03,	Mr. Irfan Ahmed Shah Senior Pharmacist / Store Incharge	Member
04.	Deputy Commissioner (South)	Member
05.	Accountant General Sindh or his nominee.	Member

The TORs: Functions / Responsibilities of the Procurement committee in accordance with Rule-8 of SPP Rules 2010 shall be as under:

- a) Preparing bidding documents:
- b) Carrying out technical as well as financial evaluation of the bids:
- c) Preparing evaluation report as provided in Rule-45:
- d) Making recommendations for the award of contract to the competent authority;
- c) Perform any other function ancillary and incidental to the above.

SECRETARY HEALTH

Karachi, dated: 16 June, 2017

No.SO(PM&I)2-1/16-17/PM-15 (SHK):

C.C to

1. The Managing Director, Sindh Public Procurement Regulatory Authority, Karachi,

 The Medical Superintendent, Services Hospital & Civil Surgeon, Karachi with reference to his letter dated: 13-06-2017.

3. The Chairman & all members of the Committee.

4. The P.S. to Secretary Health.

NAVYED NAMED SOOMRO)

OFFICE OF THE MEDICAL SUPERINTENDENT SERVICES HOSPITAL AND CIVIL SURGEON, KARACHI.

NO. SHK/- 3474 / DATED THE OD-O7 2017.

TENDER NOTICE.

The Medical Superintendent, Services Hospital Karachi, Health Department, Government of Sindh hereby invites sealed bids as per Rule 46(2) of SPRA Rule,2010 (single stage two envelopes procedure, Technical and Financial envelop) for the financial year 2017-18, from various interested manufactures / Importers / Distributors / Contractors for supply of items mentioned below. A complete set of documents (terms & condition) may be purchased from the date of publication of this advertisement from the office of the undersigned, on submission of written application upon cash payment of non-refundable fee mentioned in each tender enquiry. The bid must be delivered on opening dated mentioned below at 11.00 am which will be opened (Technical envelop) publicly in the presence of the bidders or their authorized persons / representative who choose to attend before tender opening committee on same day at 12.00 Noon. The Procuring Agency may reject any or all bids subject to the relevant provision of SPPRA Rules.

S.No.	Description of Stores.	Date of opening.	Cost of tender.
01.	L.P Medicine	29 th July 2017	Rs. 2,000/-
02.	Oxygen Gas	29 th July 2017	Rs. 1,000/-:
03.	Consumable (Lab. Items)	29 th July 2017	Rs. 1,000/-
04.	Diet	29 th July 2017	Rs. 1,000/-
05.	General items	29 th July 2017	Rs. 1,000/-
06.	Uniform / Liveries	29 th July 2017	Rs. 1,000/-

Important:-

- 01. Bids Security 2.5% of the offered bid.
- 02. Bid must be in Pak. Rupees.
- 03. The Tender will be sold from Accountant's Office at the office of undersigned.
- Rates quoted in the Tender shall remain effective till 90 days for the date of opening or till
 extended bid validity period in terms of Rule-38 of SPPRA Rules 2010 (amended 2013).
- 05. All quotation shall include Government Taxes including GST if applicable.

(DR. MAHMOOD QURESHI) | | > SUPERINTENDENT & CIVIL SURGE

MEDICAL SUPERINTENDENT & CIVIL SURGEON

SERVICES HOSPITAL KARACHI.

TELEPHONE NO:99215789. OFFICE OF THE MEDICAL SUPERINTENDENT SERVICES HOSPITAL

AND CIVIL SURGEON, KARACHI.

NO. SHK/- 3461/63 / DATED THE 18-07-2017.

OFFICE ORDER.

In pursuance of Rule-31 and 32 of Sindh Public Procurement Rules-2010, the following Officers are hereby constitutes as complaint Redressal Committee (CRC) for scrutinizing the complaints of aggrieved bidders against tender invited by Services Hospital Karachi for the financial year 2017-18.

Dr. Mahmood Qureshi.
 Medical Superintendent,
 Services Hospital Karachi

Chairman.

02. Dr. Ali Hasan Baladi Physician, Services Hospital Karachi

Member.

03. Representative Accountant General Sindh, Karachi.

Member.

TORs

To scrutinize the complaints from the aggrieved bidders and decide the cases strictly in accordance with SPP Rules-2010.

MEDICAL SUPERINTENDENT SERVICES HOSPITAL & CIVIL SURGEON KARACHI

Copy forwarded for information to:-

- 01. The Secretary Government of Sindh Health Department, Karachi.
- 02. The Managing Director, Sindh Public Procurement Regulatory Authority, Karachi.
- 03. All Members of the committee.

MEDICAL SUPERINTENDENT SERVICES HOSPITAL & CIVIL SURGEON KARACHI

AND CIVIL SURGEON, KARACHI. Health Department Government of Sindh

Annual Procurement Plan (Works, Goods & Services)

S.No.	Description of Procurement	Quantity (Where applicable)	Funds allocated (1000 Million)	Source of Funds (ADPs Non ADPs)	Proposed Procuremen t Method	Timing of Procurements		s	Remarks							
						1st Qtr	2nd Qtr	3rd Qtr								
1	Local Purchase Medicine	As per tender documents			SPP RULE 2010 Clause	29/07/2017										
2	Diet	As per tender documents			46(2) Single stage two	29/07/2017										
3	General Item / Other Misc.	As per tender documents	As per	1		As per	As per	As per	As per	As per	envelope bidding	29/07/2017				
4	Laboratory / Chemical / Consumable Item	As per tender documents	Regular Budget	Non-ADP	procedures of sindh public	29/07/2017										
5	Medical Gas (O2)	As per tender documents			procuremen t Rule 2010	29/07/2017	d									
6	Linen (Uniform)	As per tender documents			(amended 2013)	29/07/2017										

MEDICAL SUPERINTENDENT SERVICES HOSPITAL & CIVIL SURGEON KARACHI



Extension of Date for Receipt of Technical & nancial Proposals for Outsourcing of the Commercial lanagement of Cargo Express Train (503UP/504DN)

continuation to the advertisement appeared in the Daily vspapers "Business Recorder" and "Express" dated 22-06-2017.

w, the Last Date for receipt of Technical & Financial Proposals Outsourcing of the Commercial Management of Cargo Express 503UP/504DN) between Karachi Bandar- Faisalabad via Multan ty and vice versa has been extended up to 31st July, 2017 at 1:00 Hours from 11th July, 2017.

other terms and conditions will remain the same.

TARIQ ANWAR SIPRA

Deputy Chief Commercial Manager Pakistan Railways, Headquarters Office, Lahore Ph. # 042-99201805, Fax. # 042-99201759

FICE OF THE DISTRICT & SESSIONS JUDGE THARPARKAR AT MITHI

SITUATIONS

Applications are invited from candidates for the following vacant posts

S.	Name of Post & Grade	Qualification & Experience	Age Limit	Domicile
	Steno - grapher (BPS-15)	Intermediate from any recognized board or equivalent. Shorthand speed 80 words per minute & Typing speed 40 words per minute along with Sindh Board of Technical Education Certificate. Computer literate will be preferred.	21 to 25 Years	Tharparkar
2	Junior Clerk (BPS-11)	Intermediate from any recognized board or equivalent. Typing speed 40 words per minute. Computer literate will be preferred.	21 to 25 Years	Tharparkar

Application Form and Online Slip are available at National Testing Services site: www.nts.org.pk

lication Form Fee Rs. 600/- may be deposited at any branch of MCB, UBL ABL and HBL

Application Form along with Original Online Deposit Slip, attested copies of CNIC, Domicile, PRC, Educational Certificates and two recent passport size photographs should reach the National Testing Service, (HQ) Plot No. 6, Street No. 4 H-8/1, Islamabad on or before 25-07-2017.

The candidates who are already in Government service should send their applications along-with qualification & experience certificates, through their respective department Head.

No TA/DA will be paid for test

under my hand and seal the Court this 06-07-2017.

District & Sessions Judge, Tharparkar at Mithi

INF/KRY/3375/2017







sealed bids for the Outsource Security (Security Services) invited on Single Stage single envelop procedure from sted Firms / Dealers/ Suppliers meeting the eligibility ria (SBR, FBR, GST & Income Tax Registered Firms).

Tender Earnest Date of Date of

IN THE COURT OF ANTI-TERRORISM COURT/ 1ST ADDITIONAL DISTRICT & SESSION COURT KARACHI WEST

(Revised J.C.29E)

Special Case No: 252/2017

The State Versus

Majeed Khan & Others Accused

FIR No. 442/2015 U/S: 392/353/324/34/512, PPC, r/w 7 ATA P.S: S.I.T.E-A

PROCLAMATION REQUIRING THE APPEARANCE OF A PERSON ACCUSED UNDER SECTION 87 Cr.P.C

WHEREAS complaint had been made before me that the accused namely Umer S/o Ayub R/o Khattak Chowk, Metrovil Block-2 S.I.T.E Karachi, have committed (or is suspected to have committed) the offence Under Section 353/324/34 PPC of Pakistan Penal Code, r/w section 7 ATA 1997 it has been returned to a warrant of arrest there upon issued that the said accused cannot be found and whereas it has been shown to my satisfaction that the said accused has absconded to avoided the service of the said warrant.

Proclamation is hereby made that the said accused is required to appear 8:30 a.m. before this Court to answer the said complaint on 11-07-2017.

Given under my hand and seal of the Court this 19th day of June, 2017.

ہم دیکٹر دی کے خلاف متحد ہیں ہ

Addl: District & Sessions Judge-1 Karachi - West

Say No To Corruption

/KRY/3342/2017

OFFICE OF THE MEDICAL SUPERINTENDENT SERVICES HOSPITAL AND CIVIL SURGEON, KARACHI

NO, SHKJ-3474/

DATED THE 08-07-2017

TENDER NOTICE

The Medical Superintendent, Services Hospital Karachi, Health Department, Government of Sindh hereby invites sealed bids as per Rule 46(2) of SPRA Rule-2010, (single stage two envelopes procedure, Technical and Financial Envelope) for the financial year 2017-18, from various interested manufacturers / Importers / Distributors / Contractors for supply of items mentioned below. A complete set of documents (terms & conditions) may be purchased from the date of publication of this advertisement from the office of the undersigned, on submission of written application upon cash payment of non-refundable fee mentioned in each tender enquiry. The bid must be delivered on opening date mentioned below at 11:00 am which will be opened (Technical envelope) publicly in the presence of the bidders or their authorized persons / representatives who choose to attend before tender opening committee on same date at 12:00 Noon. The Procuring Agency may reject any or all bids subject to the relevant provision of SPPRA Rules.

S. No.	Description of Stores	Date of Opening	Cost of Tender
01.	L.P Medicine	29th July 2017	Rs. 2,000/-
02,	Oxygen Gas	29th July 2017	Rs. 1,000/-
03.	Consumable (Lab. Items)	29th July 2017	Rs. 1,000/-
04.	Diet	29th July 2017	Rs. 1,000/-
05.	General items	29th July 2017	Rs. 1,000/-
06.	Uniform / Liveries	29th July 2017	Rs. 1,000/-

Important:-

INF-KRY No. 3363/2017

- 01. Bids Security 2.5% of the offered bid.
- Bid must be in Pak. Rupees.
- The Tender will be sold from Accountant's Office at the office of undersigned.
- Rates quoted in the Tender shall remain effective till 90 days for the date of opening or till extended bid validity period in terms of Rule-38 of SPPRA Rules 2010 (amended 2013).
- All quotations shall include Government Taxes including GST if applicable.

MEDICAL SUPERINTENDENT & CIVIL SURGEON, SERVICES HOSPITAL, KARACHI

一月 かんしいこんり

Say No to Corruption

OFFICE OF THE MEDICAL SUPERINTENDENT SERVICES HOSPITAL AND CIVIL SURGEON KARACHI. DATED THE 21-07-2017.

*NO SHK/- 5651

9.

10.

certificate required)
Financial Soundness

Less than 100.00 M in each year..... 05 Marks Upto 100.00 M in each year..... 10 Marks

Turnover

SPPPA

10

30

Bid Data Sheet

Name & Address of	Opposite Allah wala Market, M.A Ph: 021-99215789, Fax: Tender for purchase of Consumable					
1.	Opposite Allah wala Market, M.A Ph: 021-99215789, Fax: Tender for purchase of Consumable					
Name of the same	The state of the s					
	Name of contract: Tender for purchase of Consumable Laboratory items, Diet Items Miscellaneous (Other), Medicinal Gases, Uniform / Liveries & Local Purchase of Medicines (L.P).					
Language of the bid	English					
The bid price:						
5. The price shall be fix	ed	**************************************				
5. Tender Reference N	o:- SHK / 3474/2017-18, / ANNUAL TEN	1DER				
7. Method of Procuren	nent:- Single Stage-Two Envelop, 46(2) SP	PRA Rule.				
3. Total Bid documents	sold:- Lab-Consumble-10, L.P-03, Diet-0. Med.Gas-03.	3, Miscel-02, Uniform-02,				
Total Bid received:-	Total Bid received:- Lab-Consumble-10, L.P-03, Diet-03, Miscel Med.Gas-03.					
(). No. of Bids Technica	No. of Bids Technically qualified: Lab-Consumble-06, L.P-03, Diet-03, Miscel-02, Uniform-02 Med.Gas-03.					
1. No. of Bids Disqualif	ed: Lab-Consumable- 04					
Qualification requir	ement:					
SR.#	CRITERIA	YES / NO				
Tax (GST)	istration National Tax Number (NTN) (Mandatory) / Gene					
2. Consulates / d	ement with principal duly countersigned by Pakistan Emb					
Bid Form.	 The required documents according to the Terms & Conditions mentioned in the Bid Form. 					
	 Copy of Undertaking regarding supply of required items within stipulated time with quality certificate from the authorized Laboratory. 					
	5. Financial Turn-over for the last three years (100 million in each year) with bank certificate regarding financial soundness of the firm, as per Bid Documents					
	erience / Previous Performance for the last thre Evidence should be attached)	ec years				
7. Previous perfor	nance in the Hospital (last three years)	15				
8. FDA/ ISO-2013	2016 Certified15 Marks /14 Certified10 Marks Certified05 Marks	30				

Business with Non-Government institution for the last 3-year (satisfactory

		More than 100.00 M in each year	15 Marks	T
	11.	Business with Government institutes of the certificate required at upto 3- institutes of the certificate required by the certificate required by the certificate required by the certificate of the certifi	tution for the last 3-year (satisfactory	15
	L		TOTAL MARKS	100
13.	Amou	nt of bid security: 2.5%		
14.		lidity period: Bid will be valid to e evolution.	for 90 days from the date of opening	for technical and
15.	Surge	on, Karachi.	of the Medical Superintendent Service	es Hospital and Civil
16.	IFB tit	le and number:		
17.	W. W. C.		uly 2017 from 10:00 am to 11:00 am	
18.			opening: On 29 th July 2017 from 11	
19.	-		opening: On 7 th August 2017 at 12:00	noon
20.	Criteri	a for bid evolution: Least cost at	ter confirmation Eligibility Criteria.	
21.	Delive	ry Schedule: as per terms condi	tion of the bid documents.	
22.	Percei	ntage for quantity increase or de	crease. 15% shall be increase/ Decr	ease.
2.	Chief R.	air Ahmed Agha M.O (General)	Member Residental Medical Off (General) Services Hospital, Kar	
-	Mr. Irfa Sr. Phar	n Ahmed Shah macist s Hospital Karachi	Member	Senior Pharmacist Senior Pharmacist Senior Services Hospital Marriaghi, Sincia
* *	Addl: A. Represe	z Mustafa Shaikh G, Sindh entative from dh Karachi	Member	
5.	Deputy	Commissioner Arambagh	Member	

Representative from Deputy Commissioner South Karachi.

> MEDICAL SUPERINTENDENT SERVICES HOSPITAL AND CIVIL SURGEON KARACHI

MINUTES OF FINANCIAL BID OPENING MEETING

NIT No.	NO.SHK/ ANNUAL TENDER ,2017-18/ 3474
SPPRA Sr. #	
Method and Procedure of Procurement	Single Stage-One Envelope Procedure SPPRA Rule- 46 (01)

ANNUAL TENDER FOR THE LOCAL PURCHASE OF MEDICINE (L.P) DURING FISCAL YEAR 2017-18 SERVICES HOSPITAL KARACHI

Meeting of the Hospital Procurement Committee (HPC) was held for opening of Financial Proposal on 29th July 2017 in respect of subject NIT. Meeting was attended by all / following members of the HPC and the representative of bidders. (Attendance sheets are enclosed).

03 Bids of technically qualified bidders were opened at 12:00 noon in presence of all participants. The rates quoted by bidders were read aloud and encircled by Chairman of the HPC. All the members of the HPC signed each and every page of Financial Proposal / Bids. The bids do not contain any overwriting or cutting.

Following is the details of qualified bids announced:

Sr.#	Name of Bidder	Amount of Bid Security	Pay Order No. / Date
1	M/S Memon Hospital Pharmacy	200,000/-	P.O No.00784932/2017 92
2	M/S Al-Madina Medical Store	200,000/-	Cheque No. 00001629
3	M/S Khan Medicos	200,000/-	Cheque No. 00009957

PROCUREMENT COMMITTEE:

DR.ZUBAIR ALE DECHA R.M.O (GENERAL)

MEMBER.

SERVICES HOSPITAL KARACHI

SR. PHARMACIST MEMBER SERVICES HOSPITAL KARACHI

MR. IRFAN AHMED SHAH

MR. AZIZ MUSTAFA SHAI REPRESENTATIVE AG SINDH ASSISTANT (ACCOUNTANT/GENERAL)

MEMBER

ASSISTANT COMMISSIONER ARAMBAGH REPRESENTATIVE

DEPUTY OF MMISSIONER SOUTH, KARACHI

MEMBER

DR.MANZOOR THMED MEMON ADDITIONAL CIVIL SURGEON SERVICES HOSPITAL KARACHIGEOT CHAIRMAN COMMENTE SPITAL

Karachi



OFFICE OF THE MEDICAL SUPERINTENDENT SERVICES HOSPITAL & CIVIL SURGEON KARACHI PH:99215789



No.SHK 3402

Dated: 12-8-17

COMPARATIVE STATEMENT FOR LOCAL PURCHASE OF MEDICINE (L.P) ANNUAL TENDER DURING FINANCIAL YEAR 2017-18

SR#	NAME OF FIRM	DISCOUNT OFFERED	
1.	M/S Memon Hospital Pharmacy	. 06 %	
2.	M/S Al- Madina Medical Store	04%	
3.	M/S Khan Medicos	05 %	

NOTE: The bidder M/S Memon Hospital Pharmacy, Karachi has quoted maximum discount offered in the financial proposal, hence its offers approved by procurement committee.

DR.ZUBAIR AHMEH Medical R.M.O RESIDER General Karacia MEMBER.

SERVICES HOSPITAL KARACHI

MR. ART MUST WAS SHAIKH
ASSISTANT ACCOUNTANT GENERAL SINDH
REPRESENTATIVE OF AG SINDH

MR. IRFAN AHMED SHAH

MEMBER

SERVICES HOSPITAL KARACHI

ASSISTANT COMMISSIONER ARAM BAGH
REPRESENTATIVE OF DEPARTY COMMISSIONER SOUTH

MARINE

DR.MANZOOR AHMED MEMON ADDITIONAL CIVIL SURGEON SERVICES HOSPITAL KARACHI CHAIRMAN COMMITTEE

MINUTES OF FINANCIAL BID OPENING MEETING

NIT No.	NO.SHK/ ANNUAL TENDER ,2017-18/ 3474		
SPPRA Sr. #			
Method and Procedure of Procurement	Single Stage-One Envelope Procedure SPPRA Rule- 46 (01)		

ANNUAL TENDER FOR THE PURCHASE OF MEDICAL GAS DURING FISCAL YEAR 2017-18 SERVICES HOSPITAL KARACHI

Meeting of the Hospital Procurement Committee (HPC) was held for opening of Financial Proposal on 07th August 2017 in respect of subject NIT. Meeting was attended by all / following members of the HPC and the representative of bidders. (Attendance sheets are enclosed).

03 Bids of technically qualified bidders were opened at 12:00 noon in presence of all participants. The rates quoted by bidders were read aloud and encircled by Chairman of the HPC. All the members of the HPC signed each and every page of Financial Proposal / Bids. The bids do not contain any overwriting or cutting.

Following is the details of qualified bids announced:

Sr.#	Name of Bidder	Amount of Bid Security	Pay Order No. / Date
1	M/S Khan Traders	30,000/-	P.O.No. 0189.3265003
2	M/S Shameem Traders	30,000/-	P.O. No. 0189.3265004
3	M/S Unique Enterprises	30,000/-	P.O.No. 0189.3265013

ITEM #		NAME OF FIRM (1 ST LOWEST)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3 RD LOWEST) M/S Unique Enterprises
	NAME OF ITEM	M/S Khan Traders	M/S Shameem Traders	
A-	OXYGEN MEDICINAL GAS			•
1.	Cylinder upto 240 Cft	<u>850</u>	875	900
2.	Cylinder upto 50 Cft	<u>750</u>	860	910
3.	Cylinder upto 48 Cft	<u>770</u>	810	880
B-	Nitrous Oxide Medicinal Ga	S		
1.	Cylinder upto 1620 liter	<u>2250</u>	2350	2470
2.	Cylinder upto 3240 liter	<u>3700</u>	3900	4400
C-	Valve Replacement			
1.	Spindel replacement	<u>290</u>	320	345
2.	Hydraulic Testing	<u>190</u>	210	249
3.	Washing Chemically	<u>190</u>	220	245
4.	Painting	<u>200</u>	225	245
5.	Neck Ring	88	120	145

NOTE: The bidder M/S Khan Traders has quoted lowest bid in financial proposal, hence its offers approved by procurement committee.

PROCUREMENT COMMITTEE:

DR.ZUBAIR AHMHANIA Medical Officer

R.M.O (GERERAL)

MEMBER

ERVICES HO

SERVICES HOSPITAL KARACHI

MR. IRFAN AHMED SHAH Shaw

SR. PHARMACIST
MEMBER
SERVICES HOSPITAL KARACHI

MR. AZIZ MUSTAFA SHAIKH REPRESENTATIVE AG SINDH

ASSISTANT (ACCOUNTANT GENERAL) MEMBER

ASSISTANT COMMISSIONER ARAMBAGH REPRESENTATIVE DEPUT COMMISSIONER SOUTH, KARACHI

MEMBER

DR.MANZOOR ARMED MEMON ADDITIONAL CIVIL SURGEON SERVICES HOSPITAL KARAGUIL
CHARMAN COMMUSEE
SERVICES Karachi





No.SHK 5655

Dated: 2/-9-17

COMPARATIVE STATEMENT FOR PURCHASE OF MEDICAL GAS REGARDING ANNUAL TENDER DURING FINANCIAL YEAR 2017-18

Ітем	Name of Item	NAME OF FIRM (1 ST LOWEST)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3 RD LOWEST)
#		M/S Khan Traders	M/S Shameem Traders	M/S Unique Enterprises
A-	OXYGEN MEDICINAL GAS	- 1		
1.	Cylinder upto 240 Cft	<u>850</u>	875	900
2.	Cylinder upto 50 Cft	<u>750</u>	860	910
3.	Cylinder upto 48 Cft	<u>770</u>	810	880
B-	Nitrous Oxide Medicinal Ga	S		
1.	Cylinder upto 1620 liter	2250	2350	2470
2.	Cylinder upto 3240 liter	<u>3700</u>	3900	4400
C-	Valve Replacement			
1.	Spindel replacement	290	320	345
2.	Hydraulic Testing	<u>190</u>	210	249
3.	Washing Chemically	190	220	245
4.	Painting	200	225	245
5.	Neck Ring	88	120	145

NOTE: The bidder M/S Khan Traders has quoted lowest bid in financial proposal, hence its offers approved by procurement committee.

DR.ZUBAIR AHMAN IRANG

SERVICES HOSPITAL KARACHI MEMBER.

MR. AZIZ MUSTAFA SHAIKH ASSISTANT ACCOUNTANT GENERAL SINDH REPRESENTATIVE OF AG SINDH

MEMBER

MR. IKFAN AHMED SHAH

SR. PHARMACIST

ICES HOSPITAL KARACHI

MEMBER

ASSISTANT COMMISSIONER ARAM BAGH REPRESENTATIVE OF DEPUTE COMMISSIONER SOUTH

DR.MANZOOR AHMED MEMON SUTGEON ADDITIONAL CIVIL SURGEONNIL SURGEON SERVICES HOSPITALIKARACHHOSPITAL CHAIRMAN COMMITTEE arachi

NIT No.	NO.SHK/ ANNUAL TENDER ,2017-18/ 3474
SPPRA Sr. #	
Method and Procedure of Procurement	Single Stage-One Envelope Procedure SPPRA Rule- 46 (01)

ANNUAL TENDER FOR THE PURCHASE OF MEDICAL GAS DURING FISCAL YEAR 2017-18 SERVICES HOSPITAL KARACHI

Meeting of the Hospital Procurement Committee (HPC) was held for opening of Financial Proposal on 07th August 2017 in respect of subject NIT. Meeting was attended by all / following members of the HPC and the representative of bidders. (Attendance sheets are enclosed).

03 Bids of technically qualified bidders were opened at 12:00 noon in presence of all participants. The rates quoted by bidders were read aloud and encircled by Chairman of the HPC. All the members of the HPC signed each and every page of Financial Proposal / Bids. The bids do not contain any overwriting or cutting.

Following is the details of qualified bids announced:

Sr.#	Name of Bidder	Amount of Bid Security	Pay Order No. / Date
1	M/S Khan Traders	30,000/-	P.O.No. 0189.3265003
2	M/S Shameem Traders	30,000/-	P.O. No. 0189.3265004
3	M/S Unique Enterprises	30,000/-	P.O.No. 0189.3265013

Ітем	Name of Item	NAME OF FIRM (1 ST LOWEST)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3RD LOWEST)
#		M/S Khan Traders	M/S Shameem Traders	M/S Unique Enterprises
A-	OXYGEN MEDICINAL GAS			
1.	Cylinder upto 240 Cft	<u>850</u>	875	900
2.	Cylinder upto 50 Cft	<u>750</u>	860	910
3.	Cylinder upto 48 Cft	<u>770</u>	810	880
B-	Nitrous Oxide Medicinal Ga	S		
1.	Cylinder upto 1620 liter	<u>2250</u>	2350	2470
2.	Cylinder upto 3240 liter	<u>3700</u>	3900	4400
C-	Valve Replacement			
1.	Spindel replacement	<u>290</u>	320	345
2.	Hydraulic Testing	<u>190</u>	210	249
3.	Washing Chemically	<u>190</u>	220	245
4.	Painting	200	225	245
5.	Neck Ring	88	120	145

NOTE: The bidder M/S Khan Traders has quoted lowest bid in financial proposal, hence its offers approved by procurement committee.

PROCUREMENT COMMITTEE:

DR. ZUBAIR AHM RESHENTAL MEDICAL OFFICE!

R.M.O (GENERAL)

MEMBER.

SERVICES HOSPITAL KARACHI

MR. IRFAN AHMED SHAH

SR. PHARMACIST.
MEMBER
SERVICES HOSPITAL KARACHI

MR. AZIZ MUSTAFA SHAIKH REPRESENTATIVE AG SINDH ASSISTANT (ACCOUNTANT GENERAL) MEMBER ASSISTANT COMMISSIONER ARAMBAGH

REPRESENTATIVE DEPUTY COMMISSIONER SOUTH, KARACHI MEMBER

DR.MANZOOR AHMED MEMON ADDITIONAL CIVIL SURGEON SERVICES HOSPITAL KARAGHI CHAIRMAN GOMMITTEN TAL





No.SHK 5654

Dated: 21-9-17

COMPARATIVE STATEMENT FOR PURCHASE OF DIETARY ITEMS REGARDING ANNUAL TENDER DURING FINANCIAL YEAR 2017-18

ITEM	NAME OF ITEMS	NAME OF FIRM (1st Lowest)	NAME OF FIRM (2 ND LOWEST)	NAME OF FIRM (3 RD LOWEST)	
#	NAME OF ITEMS	M/S KHAN TRADERS	M/S SHAMEEM TRADERS	M/S UNIQUE ENTERPRISES	
SCHE	DULE NO.01. VEGETABLE				
1	LOKI (BEST QUALITY)	40	45	48	
2	SPINACH (BEST QUL)	<u>30</u>	35	40	
3	BRINJAL (B.QUALITY)	30	32	35	
4	LADY FINGER (B.QUL)	30	32	35	
5	TURI (B. QUALITY)	<u>45</u>	46	48	
6	KUDDOO (B.QUALITY)	<u>35</u>	37	40	
7	TINDAY (BEST QUALITY)	37	38	39	
8	POTATOES (B.QUALITY)	48	50	53	
9	ONION (BEST QUALITY)	39	45	48	
10	ARVI (BEST QUALITY)	<u>49</u>	52	54	
11	PEAS GREEN (B.QUL)	49	52	54	
12	TURNIP (BEST QUALITY)	34	36	38	
13	CAULI FLOWER (B.QUL)	39	45	48	
14	CABBAGE (B.QUALITY)	39	45	48	
15	CARROT (BEST QUAL)	39	45	48	
16	KARELLA (B.QUALITY)	<u>51</u>	. 53	55	
17	TOMATOES (B.QUL)	<u>51</u>	53	55	
18	CORRIANER GREEEN	130	135	145	
19	GARLIC (B. QUALITY)	199	205	210	
20	GINGER (B. QUALITY)	199	205	210	
21	MINT (BEST QUALITY	160	175	185	

, ITEM	NAME OF ITEMS	NAME OF FIRM (1 st LOWEST)	NAME OF FIRM (2 ND LOWEST)	NAME OF FIRM (3RD LOWEST)
#		M/S KHAN TRADERS	M/S SHAMEEM TRADERS	M/S UNIQUE ENTERPRISES
22	CHILLI GREEN (B.QUL)	<u>160</u>	175	185
SCHE	DULE NO.02. VEGETABLE/ FURI	<u>r</u>		
1	APPLE FRESH (KALOO YELLOW SKIN EACH SHOULD BE 150-200 GRAMS.	<u>160</u>	169	190
2	PLUMB SWEET, RIPE & FRESH)	80	89	95
3	APRICOTE (SWEET,RIPE & FRESH)	<u>90</u>	189	100
4	MANGO (QALMI,SINDHRI,LANGRA. DASERI,SAROLI) EACH MANGO 225GR	110	190	120
5	GRAPS (SWEET FRESH, RIPE)	<u>150</u>	159	170
6	KINO (FRESH & BEST QUALITY)	<u>110</u>	170	125
7	MOSAMI/MALTA (FRESH &BEST QUL:	110	170	125
8	BANANA (CHITRI BEST QUALITY)	90	190	100
9	GARMA (SWEET & RIPE)	<u>85</u>	185	95
10	MELON (KHARBOZA) SWEET & RIPE)	80	180	90
11	CHIKO (SWEET & RIPE)	90	190	99

1	BREAD WHITE SANDWITCHES SIZE, FRESH LARGE OF 1KG PAPER, WARPED 32 EQUAL PIECES OF 28, GRAMS (FRYUTY, DAWN, VITA)	<u>125</u>	185	135
2	BUTTER FRESH IN 25 GRM, PACKING CONTAINING 80% MILK FAT CONFIRMING TO THE STANDARD OF GHEE. (NEW TOWN/UNITED/NOORPUR)	<u>820</u>	900	930
3	DRY SKIMMED MILK.	790	880	910
4	REGULAR MILK.	90	92	94
5	BISCUITS	<u>25</u>	27	30

СНЕ	EDULE NO.04. MEAT, FISH AND POUL	TRY PRODUCT		
1	MEAT COW RAAN ONLY (WITH OUT BONES)	<u>590</u>	610	635
2	MEAT GOAT (FRESH)	<u>890</u>	910	915

ITEM	NAME OF ITEMS	NAME OF FIRM (1st LOWEST)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3 RD LOWEST)
#	NAME OF ITEMS	M/S KHAN TRADERS	M/S SHAMEEM TRADERS	M/S UNIQUE ENTERPRISES
3	FISH (DHATHAR/SURMA, WHITE PAMPHLET OR RAHOW)	370	380	390
4	MEAT CHIKEN FRESH (BROILER).	<u>360</u>	370	380
5	EGGS HEN FRESH (POULTRY)	<u>110</u>	118	125
	DULE NO.05. ICE	10	15	17
1 SCHE	ICE DULE NO.06. RATION AND GROCE	EDVITEMS	15	17
l	ATTA WHITE BEST QUALITY	45	47	48
2	SUGAR WHITE REFINED	73	75	78
3	GHEE VEGETABLE.	180	190	195
4	COOKING OIL.	180	310	195
5	SODABICORB POWDER.	300	980	315
6	RICE COLONEL BANASPATI.	170	199	190
7	RICE KANGI.	<u>95</u>	145	110
8	DALL MOONG CLEANED.	140	145	150
9	DALL MASOOR CLEANED.	140	295	150
10	CHILLI POWDER(ZULFIQAR/NATIONAL)	290	295	300
11	DHANIYA POWER(ZULFIQAR/NATIONA	210	310	220
12	HALDI POWDER(ZULFIQAR/NATIONAL)	300	370	320
13	SALT POWDER)ZULFIQAR/NATIONAL)	<u>35</u>	920	39
14	PEPPER BLACK (WHOLE)	900	1520	950
15	LOANG (CLOVE)	<u>1500</u>	1870	1550
16	DAR CHINI.	350	380	380
17	ZEERA WHITE	360	1250	395
18	CARDEMIN SMALL	1200	1780	1260
19	CARDEMIN BIG.	1700	1950	1810
20	ALMON GREE.	900	1820	975
21	COCNUT GREE.	800	1870	850
22	PISTA GREE.	1800	1870	1872

ITEM	NAME OF ITEMS	NAME OF FIRM (1st Lowest)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3RD LOWEST)
#		M/S KHAN TRADERS	M/S SHAMEEM TRADERS	M/S UNIQUE ENTERPRISES
23	KISHMISH.	350	365	369
24	MURRABA ASHRAFI.	<u>250</u>	269	278
25	KEWRAH (S.A GHANI BRAND)	<u>50</u>	55	60
26	TEZ PATTA.	200	220	240
~ 27	COLOUR FOR ZARDA.	350	360	370
28	HARD MASALA.	999	1010	1020
29	CARET.	99	105	115
30	GREEN MASALA.	240	250	260
31	CURRY MASALA.	420	430	435
32	TEA LEAF RICHBRU 250G.PKT.	250	255	260

NOTE: The bidder M/S Khan Traders has quoted lowest bid in financial proposal, hence its offers approved by procurement committee.

DR.ZUBAIR AHMED HALL HERE 31 OFFICE SERVICES HOSPITAL KARACHI MEMBER.

MR/IRFAN AHMED SHAH

SR. PHARMACIST SERVICES HOSPITAL KARACHI MEMBER

MR. AZIZ MUSTAFA \$HAIRH ASSISTANT ACCOUNTANT GENERAL SINDH REPRESENTATIVE OF AG SINDH

MEMBER

ASSISTANT COMMISSIONER ARAM BAGH REPRESENTATIVE OF DEPT Y COMMISSIONER SOUTH

DR.MANZOOR ANNED MEMOSPITAL ADDITIONAL CLAN SURGEON I SERVICES HOSPITAL KARACHI CHAIRMAN COMMITTEE

NIT No.	NO.SHK/ ANNUAL TENDER ,2017-18/ 3474
SPPRA Sr. #	
Method and Procedure of Procurement	Single Stage-One Envelope Procedure SPPRA Rule- 46 (02)

ANNUAL TENDER FOR THE PURCHASE OF DIET ITEMS DURING FISCAL YEAR 2017-18 SERVICES HOSPITAL KARACHI

Meeting of the Hospital Procurement Committee (HPC) was held for opening of Financial Proposal on 07th August 2017 in respect of subject NIT. Meeting was attended by all / following members of the HPC and the representative of bidders. (Attendance sheets are enclosed).

03 Bids of technically qualified bidders were opened at 12:00 noon in presence of all participants. The rates quoted by bidders were read aloud and encircled by Chairman of the HPC. All the members of the HPC signed each and every page of Financial Proposal / Bids. The bids do not contain any overwriting or cutting.

Following is the details of qualified bids announced:

Sr.#	Name of Bidder	Amount of Bid Security	Pay Order No. / Date
1	M/S Khan Traders	188,000/-	PO.0189.3265000
2	M/S Shameem Traders	188,000/-	PO.0189.3265001
3	M/S Unique Enterprises	188,000/-	PO.0189.3265012

ITEM	NAME OF ITEMS	NAME OF FIRM (1 ST LOWEST)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3 RD LOWEST)
#		M/S KHAN Traders	M/S SHAMEEM TRADERS	M/S UNIQUE ENTERPRISES
SCHE	DULE NO.01. VEGETABLE			
1	LOKI (BEST QUALITY)	40	45	48
2	SPINACH (BEST QUL)	30	35	40
3	BRINJAL (B.QUALITY)	<u>30</u>	32	35
4	LADY FINGER (B.QUL)	30	32	35
5	TURI (B. QUALITY)	<u>45</u>	46	48
6	KUDDOO (B.QUALITY)	<u>35</u>	37	40
7	TINDAY (BEST QUALITY)	<u>37</u>	38	39
8	POTATOES (B.QUALITY)	48	50	53
9	ONION (BEST QUALITY)	39	45	48
10	ARVI (BEST QUALITY)	49	52	54
11	PEAS GREEN (B.QUL)	49	52	54
12	TURNIP (BEST QUALITY)	<u>34</u>	36	38
13	CAULI FLOWER (B.QUL)	39	45	48
14	CABBAGE (B.QUALITY)	39	45	48
15	CARROT (BEST QUAL)	39	45	48
		and the second s		

ITEM	NAME OF ITEMS	NAME OF FIRM (1 ST LOWEST)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3 RD LOWEST)
#		M/S KHAN TRADERS	M/S SHAMEEM TRADERS	M/S UNIQUE ENTERPRISES
<u></u>	KARELLA (B.QUALITY)	<u>51</u>	53	55
17	TOMATOES (B.QUL)	<u>51</u>	53	55
18	CORRIANER GREEEN	130	135	145
19	GARLIC (B. QUALITY)	<u>199</u>	205	210
20	GINGER (B. QUALITY)	199	205	210
* 21	MINT (BEST QUALITY	160	175	185
22	CHILLI GREEN (B.QUL)	160	175	185
SCHE	DULE NO.02. VEGETABLE/ FURI	r		
	APPLE FRESH (KALOO YELLOW	<u>-</u> 		
1	SKIN EACH SHOULD BE 150-200 GRAMS.	<u>160</u>	169	190
2	PLUMB SWEET, RIPE & FRESH)	<u>80</u>	89	95
3	APRICOTE (SWEET,RIPE & FRESH)	90	189	100
4	MANGO (QALMI,SINDHRI,LANGRA. DASERI,SAROLI) EACH MANGO 225GR	110	190	120
5	GRAPS (SWEET FRESH, RIPE)	<u>150</u>	159	170
6	KINO (FRESH & BEST QUALITY)	<u>110</u>	170	125
7	MOSAMI/MALTA (FRESH &BEST QUL:	<u>110</u>	170	125
8	BANANA (CHITRI BEST QUALITY)	90	190	100
9	GARMA (SWEET & RIPE)	<u>85</u>	185	95
10	MELON (KHARBOZA) SWEET & RIPE)	<u>80</u>	180	90
11	CHIKO (SWEET & RIPE)	<u>90</u>	190	99
SCHE	DULE NO.03. BAKERY PRODUCT	AND DRY MILK		
1	BREAD WHITE SANDWITCHES SIZE, FRESH LARGE OF 1KG PAPER, WARPED 32 EQUAL PIECES OF 28, GRAMS (FRYUTY,DAWN,VITA)	<u>125</u>	185	135
2	BUTTER FRESH IN 25 GRM, PACKING CONTAINING 80% MILK FAT CONFIRMING TO THE STANDARD OF GHEE. (NEW TOWN/UNITED/NOORPUR)	820	900	930
3	DRY SKIMMED MILK.	<u>790</u>	880	910
4	REGULAR MILK.	90	92	94
5	BISCUITS	<u>25</u>	27	30

ITEM	NAME OF ITEMS	NAME OF FIRM (1 ST LOWEST)	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3RD LOWEST) M/S UNIQUE ENTERPRISES
#		M/S KHAN TRADERS	M/S SHAMEEM TRADERS	
HE	DULE NO.04. MEAT, FISH AND PO	ULTRY PRODUCT		
1	MEAT COW RAAN ONLY (WITH OUT BONES)	<u>590</u>	610	635
2	MEAT GOAT (FRESH)	<u>890</u>	910	915
3	FISH (DHATHAR/SURMA, WHITE PAMPHLET OR RAHOW)	<u>370</u>	380	390
4	MEAT CHIKEN FRESH (BROILER).	<u>360</u>	370	380
5	EGGS HEN FRESH (POULTRY)	<u>110</u>	118	125
	DULE NO.05. ICE			
1	ICE	<u>10</u>	15	17
SCHE.	DULE NO.06. RATION AND GROCE ATTA WHITE BEST QUALITY		47	48
		<u>45</u>		
2	SUGAR WHITE REFINED	<u>73</u>	75	78
3	GHEE VEGETABLE.	<u>180</u>	190	195
4	COOKING OIL.	<u>180</u>	310	195
5	SODABICORB POWDER.	300	980	315
6	RICE COLONEL BANASPATI.	<u>170</u>	199	190
7	RICE KANGI.	<u>95</u>	145	110
8	DALL MOONG CLEANED.	140	145	150
9	DALL MASOOR CLEANED.	140	295	150
10	CHILLI POWDER(ZULFIQAR/NATIONAL)	290	295	300
11	DHANIYA POWER(ZULFIQAR/NATIONA	210	310	220
12	HALDI POWDER(ZULFIQAR/NATIONAL)	300	370	320
13	SALT POWDER)ZULFIQAR/NATIONAL)	<u>35</u>	920	39
14	PEPPER BLACK (WHOLE)	900	1520	950
15	LOANG (CLOVE)	1500	1870	1550
16	DAR CHINI.	350	380	380
17	ZEERA WHITE	<u>360</u>	1250	395
18	CARDEMIN SMALL	1200	1780	1260
19	CARDEMIN BIG.	1700	1950	1810
20	ALMON GREE.	900	1820	975

ITEM	NAME OF ITEMS	NAME OF FIRM (1 ST LOWEST) M/S KHAN TRADERS	NAME OF FIRM (2ND LOWEST)	NAME OF FIRM (3RD LOWEST) M/S UNIQUE ENTERPRISES
#			M/S SHAMEEM TRADERS	
2	COCNUT GREE.	800	1870	850
22	PISTA GREE.	1800	1870	1872
23	KISHMISH.	350	365	369
24	MURRABA ASHRAFI.	250	269	278
25	KEWRAH (S.A GHANI BRAND)	<u>50</u>	55	60
26	TEZ PATTA.	200	220	240
27	COLOUR FOR ZARDA.	350	360	370
28	HARD MASALA.	999	1010	1020
29	CARET.	99	105	115
30	GREEN MASALA.	240	250	260
31	CURRY MASALA.	420	430	435
32	TEA LEAF RICHBRU 250G.PKT.	250	255	260

The bidder M/S Khan Traders has quoted lowest bid in financial proposal, NOTE: hence its offers approved by procurement committee.

PROCUREMENT COMMITTEE:

DR.ZUBAIR Appoidental Medica R.M.O (GENERAL) MEMBER RVICES

SERVICES HOSPITAL KARACHI

MR. JRFANAHMED SHATT SR. PHARMACIST

MEMBER **

SERVICES HOSPITAL KARACHI

MR. AZIZ MUSTAFA SHAIKH REPRESENTATIVE AG SINDH

ASSISTANT (ACCOUNT NT GENERAL)

MEMBER

ASSISTANT COMMISSIONED ARAMBAGH REPRESSIONED

DEPUTY COMMISSIONER

SOUTH, ARACHI

MEMBER

DR.MANZOOR AHMED MEMON ADDITIONAL CIVIL SURGEON

SERVICES HOSPITAL KARACHIGEON CHAIRMAN COMMETTIES HOSPITAL Additional HOSPITAL SERVICES HOSPITAL KARACHI

Karachi

NIT No.	NO.SHK/ ANNUAL TENDER ,2017-18/ 3474
SPPRA Sr. #	
Method and Procedure of Procurement	Single Stage-One Envelope Procedure SPPRA Rule- 46 (01)

ANNUAL TENDER FOR THE PURCHASE OF GENERAL ITEMS DURING FISCAL YEAR 2017-18 SERVICES HOSPITAL KARACHI

Meeting of the Hospital Procurement Committee (HPC) was held for opening of Financial Proposal on 05th August 2017 in respect of subject NIT. Meeting was attended by all / following members of the HPC and the representative of bidders. (Attendance sheets are enclosed).

02 Bids of technically qualified bidders were opened at 12:00 noon in presence of all participants. The rates quoted by bidders were read aloud and encircled by Chairman of the HPC. All the members of the HPC signed each and every page of Financial Proposal / Bids. The bids do not contain any overwriting or cutting.

Following is the details of qualified bids announced:

Sr.#	Name of Bidder	Amount of Bid Security	Pay Order No. / Date
1	M/S Khan Traders	18,750/-	PO. 0189.3264997
2	M/S Shameem Traders	18,750/-	PO. 0189.3264996

İTEM	NAME OF ITEMS	NAME OF FIRM (1st LOWEST)	NAME OF FIRM (2ND LOWEST)
#	NAME OF ITEMS	M/S KHAN TRADERS	M/S SHAMEEM TRADERS
1	Soap Lifebuoy (Lever Brothers)	<u>27</u>	30
2	Soap Lux Std size (Lever Brothers)	<u>30</u>	35
3	Powder Cleaner (Vim) (Lever Brothers/Welcome)	<u>120</u>	130
4	Broom Gova 1Kg (Thik stick) of 1000 gms	88	92
5	Broom Soft 1/4 Kg (Best Quality)	<u>68</u>	77
6	Bleaching Powder 50 Kgs Drim, (Adamjee/Sitara)	55 kg	3250
7	Blue Washing (Big Bird) Rohin, Orignal 450Gm pkt. Rack and Chali	190	200
8	Phenyl Liquid Conc. 456 or 500 ml (Carolin Enterprise / Welcome / Finis/Martin/Hanter)	<u>149</u>	160
9	Coopex Oil Spray 20 Lit Tin (Roussel Uclaf pkt.)	299	320
10	Sutli (Jute) for Chindi (Best Quality)	149	170
11	Mop Cotton with wooden Handle 4" Long	199	220
12	Surf Powder (Lever Brothers) per KG	239	250
13	Lime Choona	<u>12</u>	15
14	Paper Cutting for OPD Slip	0.60	0.75
15	Wiper.	64	72
16	Soda ICI	47	55

İŢĒM	NAME OF ITEMS	Name of Firm (1 st Lowest)	Name of Firm (2 ND LOWEST)	
#	NAME OF ITEMS	M/S KHAN TRADERS	M/S SHAMEEM TRADERS	
LEC	TRIC & MISCELLANEOUS ITEMS			
1	Bulb Electric Clear 60 watts (Philips/Selver/Comboh)	16	25	
2	Bulb Electric Clear 100 watts (Philips/Selver/Comboh)	16	25	
3	Bulb Electric Clear 200 watts (Philips/Selver/Comboh)	34	40	
4	Bulb Murcury 160 watts, 2 Pin (Philips)	370	385	
5	Plug Shue 2 Pin 5 amp (P.PI)	44	50	
6	Plug Shue 3 Pin 5 amp (P.PI)	59	65	
7	Socket 2 Pin 5 amp (P.PI)	26	30	
8	Socket 3 Pin 5 amp (P.PI)	129	170	
9	Tube Light Rod 40 watts. Philps	129	135	
10	T.L. Choke 40 watts.	169	175	
11	T.L. Choke 20 watts.	169	175	
12	T.L. Starter 40 watts.	16	19	
13	T.L. Starter 20 watts.	16	19	
14	T.L. Patti Fitting 4' long without Choke & Starter	69	75	
15	T.L. Patti Fitting 2' long without Choke & Starter	49	55	
16	Cell Battery Large (Toshiba japan)	19	22	
17	Plastic Bag (2" x 6")	289 kg	300	
18	Battery cell medium sizes(Toshiba japan)	17	18	
19		7	8	
	Battery cell pen sizes(Toshiba japan) Torch 2 cell	79	85	
20			175	
21	Lock China big sizes	169	145	
22	Lock Medium sizes	139	10	
23	Battery cell III A. TRIP CB.	9		
24	Tubelight small size. Philips.	99	110	
25	Room spray.	199	210	
26	Tissue paper.	99	108	
27	Tube Light Chowk (ENGLAND)	214	225	
28	Acid Oil	219	225	
29	Bulb Saver 50 Watt.	<u>599</u>	635	
	APPLIANCES ITEMS.			
1	Bucket Plastic small 2GI,91/2 Cap (Best Quality)	46	48	
2	Bucket Zinc Large 4GI, 91/2 Cap (Best Quality)	243	250	
3		174	180	
	Bucket Zinc Medium 2GL, 91/2 Cap (Best Quality)		550	
4	Bucket Aluminium 2GI, 91/2 Cap (Best Quality) Dust Bin witahlid (Galveniz) 18 Gauge, Pedstal, 13"	<u>529</u>		
5	Dia11/2Kt. (as per sample)	<u>1969</u>	1990	
6	Dust Bin (Plastic Imported) with Tow Kandles (as per sample)	539	550	
7	Flit Pump Std. Size (Best Quality)	<u>62</u>	65	
8	Lota Plastic Large (Best Quality)	39	42	
9	Water Cooler Plastic Std. Size 17 Lit Cap. (Royal)	619	625	
10	Saver Light.	126	130	
11	Holder.	16	18	
12	Circuit. 15 AMP (JAPAN)	329	335	
A deal	CHOME 12 chin (children)	449	470	

IŢEM	NAME OF ITEMS	Name of Firm (1st Lowest)	NAME OF FIRM (2 ND LOWEST)
#		M/S KHAN TRADERS	M/S SHAMEEM TRADERS
14	JUG	129	140
15	PLASTIC PIPE 1/2",	12	14
16	PLASTIC PIPE 3/4"	14	16
17	PLASTIC PIPE 01"	19	23
18	PLASTIC PIPE 1.1/2"	<u>53</u>	55
19	WHEEL BARROW TRALLY WITH TYRE & TUBE	4469	4480
20	BLEACHING LIQUID. PER BOTTLE/ DRAM	14	17
21	BLEACHING SALT. PER BOTTLE/ DRAM	24	26
22	BUMBOAT	214	218
23	AIR FRESHNER (ROOM SPARY)	199	210

The bidder M/S Khan Traders has quoted lowest bid in financial NOTE: proposal, hence its offers approved by procurement committee.

PROCUREMENT COMMITTEE:

DR.ZUBAIR AHMAS AGGA REPORTED AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGGA TO THE MEMORY AGG

SERVICES HOSPITAL KARACHI

MR. IRFAN AHMED SHAH

SR. PHARMACIST

MEMBER*

SERVICES HOSPITAL KARACHI

MR. AZIZ MUSTAFA SHAIKH REPRESENTATIVE AG SINDH ASSISTANT (ACCOUNTANT GENERAL)

MEMBER

ASSISTANT COMMISSIONER RAMBAGH REPRESENTATIVE DEPUTY JAMMSSIONER

OUTH, KARACHI MEMBER

DR.MANZOOR AHMED MEMONUTGEON ADDITIONAL COVIDSURGEON PITAL SERVICES HOSPITAL GARACHI CHAIRMAN COMMITTIES





No.SHK 5653

Dated: 01-9-17

COMPARATIVE STATEMENT FOR PURCHASE OF GENERAL ITEM REGARDING ANNUAL TENDER DURING FINANCIAL YEAR 2017-18

ITEM	NAME OF ITEMS	Name of Firm (1st Lowest)	NAME OF FIRM (2 ND LOWEST)
#		M/S KHAN TRADERS	M/S SHAMEEM TRADERS
1	Soap Lifebuoy (Lever Brothers)	27	36
2	Soap Lux Std size (Lever Brothers)	30	35
3	Powder Cleaner (Vim) (Lever Brothers/Welcome)	120	130
4	Broom Gova 1Kg (Thik stick) of 1000 gms	88	92
5	Broom Soft 1/4 Kg (Best Quality)	68	77
6	Bleaching Powder 50 Kgs Drim, (Adamjee/Sitara)	55 kg	3250
7	Blue Washing (Big Bird) Rohin, Orignal 450Gm pkt. Rack and Chali	190	200
8	Phenyl Liquid Conc. 456 or 500 ml (Carolin Enterprise / Welcome / Finis/Martin/Hanter)	149	160
9	Coopex Oil Spray 20 Lit Tin (Roussel Uclaf pkt.)	299	320
10	Sutli (Jute) for Chindi (Best Quality)	149	170
11	Mop Cotton with wooden Handle 4" Long	199	220
12	Surf Powder (Lever Brothers) per KG	239	250
13	Lime Choona	12	15
14	Paper Cutting for OPD Slip	0.60	0.75
15	Wiper.	64	72
16	Soda ICI	47	55

ELECTRIC & MISCELLANEOUS ITEMS

1	Bulb Electric Clear 60 watts (Philips/Selver/Comboh)	16	25
2	Bulb Electric Clear 100 watts (Philips/Selver/Comboh)	16	25
3	Bulb Electric Clear 200 watts (Philips/Selver/Comboh)	34	40
4	Bulb Murcury 160 watts, 2 Pin (Philips)	370	385
5	Plug Shue 2 Pin 5 amp (P.PI)	44	50
6	Plug Shue 3 Pin 5 amp (P.PI)	<u>59</u>	65
7	Socket 2 Pin 5 amp (P.PI)	<u>26</u>	30
8	Socket 3 Pin 5 amp (P.PI)	<u>129</u>	170
9	Tube Light Rod 40 watts. Philps	129	135

ITEM	NAME OF ITTELS	NAME OF FIRM (1st LOWEST)	NAME OF FIRM (2 ND LOWEST)
#	NAME OF ITEMS	M/S KHAN TRADERS	M/S SHAMEEM TRADERS
10	T.L. Choke 40 watts.	<u>169</u>	175
11	T.L. Choke 20 watts.	<u>169</u>	175
12	T.L. Starter 40 watts.	<u>16</u>	19
13	T.L. Starter 20 watts.	<u>16</u>	19
14	T.L. Patti Fitting 4' long without Choke & Starter	<u>69</u>	75
15	T.L. Patti Fitting 2' long without Choke & Starter	49	55
16	Cell Battery Large (Toshiba japan)	19	22
17	Plastic Bag (2" x 6")	289 kg	300
18	Battery cell medium sizes(Toshiba japan)	17	18
19	Battery cell pen sizes(Toshiba japan)	7	8
20	Torch 2 cell	79	85
21	Lock China big sizes	169	175
22	Lock Medium sizes	139	145
23	Battery cell III A. TRIP CB.	9	10
24	Tubelight small size. Philips.	99	110
25	Room spray.	199	210
26	Tissue paper.	99	108
27	Tube Light Chowk (ENGLAND)	214	225
28	Acid Oil	219	225
29	Bulb Saver 50 Watt.	599	635
29	Bulb Saver 50 Watt. APPLIANCES ITEMS.		
1	Bucket Plastic small 2GI,91/2 Cap (Best Quality)		
2	Bucket Zinc Large 4GI, 91/2 Cap (Best Quality)	243	250
3	Bucket Zinc Medium 2GL, 91/2 Cap (Best Quality)	<u>174</u>	180
4	Bucket Aluminium 2GI, 91/2 Cap (Best Quality)	529	550
5	Dust Bin witahlid (Galveniz) 18 Gauge, Pedstal, 13" Dia11/2Kt. (as per sample)	1969	1990
	Dust Bin (Plastic Imported) with Tow Kandles (as per	520	550

1	Bucket Plastic small 2GI,91/2 Cap (Best Quality)	<u>46</u>	48
2	Bucket Zinc Large 4GI, 91/2 Cap (Best Quality)	243	250
3	Bucket Zinc Medium 2GL, 91/2 Cap (Best Quality)	174	180
4	Bucket Aluminium 2GI, 91/2 Cap (Best Quality)	529	550
5	Dust Bin witahlid (Galveniz) 18 Gauge, Pedstal, 13" Dia11/2Kt. (as per sample)	<u>1969</u>	1990
6	Dust Bin (Plastic Imported) with Tow Kandles (as per sample)	<u>539</u>	550
7	Flit Pump Std. Size (Best Quality)	<u>62</u>	65
8	Lota Plastic Large (Best Quality)	<u>39</u>	42
9	Water Cooler Plastic Std. Size 17 Lit Cap. (Royal)	<u>619</u>	625
10	Saver Light.	<u>126</u>	130
11	Holder.	<u>16</u>	18
12	Circuit. 15 AMP (JAPAN)	<u>329</u>	335
13	Iron Balti (Medium Size)	449	470
14	JUG	<u>129</u>	140
15	PLASTIC PIPE 1/2",	12	14
16	PLASTIC PIPE 3/4"	14	16
17	PLASTIC PIPE 01"	<u>19</u>	23
18	PLASTIC PIPE 1.1/2"	53	55
19	WHEEL BARROW TRALLY WITH TYRE & TUBE	4469	4480

Ітем	NAME OF ITEMS	NAME OF FIRM (1st LOWEST)	NAME OF FIRM (2 ND LOWEST)
) #	NAME OF TEMS	M/S KHAN TRADERS	M/S SHAMEEM TRADERS
20	BLEACHING LIQUID. PER BOTTLE/ DRAM	14	17
21	BLEACHING SALT. PER BOTTLE/ DRAM	24	26
22	BUMBOAT	214	218
23	AIR FRESHNER (ROOM SPARY)	199	210

NOTE:

The bidder M/S Khan Traders has quoted lowest bid in financial proposal, hence its offers approved by procurement committee.

DR.ZUBAIR AHMERANIGICALO R.M.O (Gestive Ligene : all SERVICES HOSPITAL KARACHI MEMBER

MB. IRFAN AHMED SHAH

SR. PHARMACIST

RVICES HOSPITAL KARACHI **MEMBER**

MR. AZIZ MUSTAFA ŞI ASSISTANT ACCOUNTANT GENERAL SINDH REPRESENTATIVE OF AG SINDH MEMBER

ASSISTANT COMMISSIONER ARAM BAGH REPRESENTATIVE OF DEPUTY COMMISSIONER SOUTH

DR.MANZOOR AHMED MEMON
ADDITIONAL CIVIL SURGEONIVIL SU

NIT No.	NO.SHK/ ANNUAL TENDER ,2017-18/ 3474
SPPRA Sr. #	
Method and Procedure of Procurement	Single Stage-One Envelope Procedure SPPRA Rule- 46 (01)

ANNUAL TENDER FOR THE PURCHASE OF UNIFORM & LIVERIES DURING FISCAL YEAR 2017-18 SERVICES HOSPITAL KARACHI

Meeting of the Hospital Procurement Committee (HPC) was held for opening of Financial Proposal on 07th August 2017 in respect of subject NIT. Meeting was attended by all / following members of the HPC and the representative of bidders. (Attendance sheets are enclosed).

02 Bids of technically qualified bidders were opened at 12:00 noon in presence of all participants. The rates quoted by bidders were read aloud and encircled by Chairman of the HPC. All the members of the HPC signed each and every page of Financial Proposal / Bids. The bids do not contain any overwriting or cutting.

Following is the details of qualified bids announced:

Sr.#	Name of Bidder	Amount of Bid Security	Pay Order No. / Date
1	M/S Khan Traders	6,250/-	PO. 0189.3264999
2	M/S Shameem Traders	6,250/-	PO. 0189.3265005

ITEM #	NAME OF ITEM	NAME OF FIRM (1st Lowest)	NAME OF FIRM (2 ND LOWEST)
		M/S KHAN TRADERS	M/S SHAMIM TRADERS
1.	Un-Bleached long Cloth with 60" 20x20/60x60 (Best Quality)	220	250
2.	Bath Towel white size 48" x 36" with monogram of S.H.K. Woolen (Best Quality)	290	320
3.	Patient Kurta Female Stripped Cloth (as per sample)	800	890
4.	Uniform for S.G. Paint & Shirt (as per sample)	<u>1800</u>	1900
5.	Drill Cloth (as per sample)	320	325
6.	Uniform for Ayas Shalwar and Kameez white Popline (as per sample)	1290	1320
7.	Uniform for Ward Boy (White) Paint & Bushcoat, Drill (as per sample)	1290	1320
8.	Uniform for Sweeper (Navy Blue) Paint and Bushcaot Drill Cloth (as per sample)	1150	1180
9.	Uniform for Sweeper (Hindu) Sari, Patticoat Blouse (as per sample)	1250	1280
10.	Uniform for Sweeper (Christian) Shalwar Kameez and Dupatta (Sky Blue) (as per sample)	1250	1280
11.	Pillow Foam	300	320
12.	Pillow Cover	200	220
13.	Draw Sheet	420	460
14.	Baby Sheet	390	400

NOTE: The bidder M/S Khan Traders has quoted lowest bid in financial proposal, hence its offers approved by procurement committee.

PROCUREMENT COMMITTEE:

DR.ZUBAIR AHMED AGHAIA Medical Officer
R.M.O (GENERA RESIDENTIAL GONE TO A STATE OF THE PROPERTY OF THE PROPER MEMBER.
SERVICES HOSPITAL KARAGITI

MR. JAFAN AHMED SHAH

SR PHARMACIST MEMBER SERVICES HOSPITAL KARACHI

MR. AZIZ MUSTAFA SHAIKH REPRESENTATIVE AG SINDH

ASSISTANT (ACCOUNTANT GENERAL) MEMBER

ASSISTANT COMMISSIONER ARAMBAGH

REPRESENTATIVE
DEPUTY COMMISSIONER
SOUTH, KARACHI
MEMBER

DR.MANZOOR AHMED MEMON

ADDITIONAL CIVIL SURGEON SERVICES HOSPITAL KARACHI

CHAIRMAN COMMITTEE Surgeon Additional HOSPITAL

SERVICES HOSPITAL Karachi





No.SHK S656

Dated: 21-09-2014

COMPARATIVE STATEMENT FOR PURCHASE OF UNIFORM / LIVERIES REGARDING ANNUAL TENDER DURING FINANCIAL YEAR 2017-18

ITEM #	Name of Item	NAME OF FIRM (1 ST LOWEST) M/S KHAN TRADERS	NAME OF FIRM (2 ND LOWEST) M/S SHAMIM TRADERS
2.	Bath Towel white size 48" x 36" with monogram of S.H.K. Woolen (Best Quality)	290	320
3.	Patient Kurta Female Stripped Cloth (as per sample)	800	890
4.	Uniform for S.G. Paint & Shirt (as per sample)	1800	1900
5.	Drill Cloth (as per sample)	320	325
6.	Uniform for Ayas Shalwar and Kameez white Popline (as per sample)	1290	1320
7.	Uniform for Ward Boy (White) Paint & Bushcoat, Drill (as per sample)	1290	1320
8.	Uniform for Sweeper (Navy Blue) Paint and Bushcaot Drill Cloth (as per sample)	1150	1180
9.	Uniform for Sweeper (Hindu) Sari, Patticoat Blouse (as per sample)	1250	1280
10.	Uniform for Sweeper (Christian) Shalwar Kameez and Dupatta (Sky Blue) (as per sample)	1250	1280
11.	Pillow Foam	300	320
12.	Pillow Cover	200	220
13.	Draw Sheet	420	460
14.	Baby Sheet	390	400

NOTE:

The bidder M/S Khan Traders has quoted lowest bid in financial proposal, hence its offers approved by procurement committee.

DR.ZUBAIR A4MED AGHA
R.M.O (GENERAL)
ERVICES HOSPITAL SERVICES HOSPITAL KARACHI

MR. AZIZ MUSTAFA SHAIKH ASSISTANT ACCOUNTANT GENERAL SINDH REPRESENTATIVE OF AG SINDH

MEMBER

MR. IKFAN AHMED SHAH

SR. PHARMACIST

SERVICES HOSPITAL KARACHI

MEMBER

ASSISTANT COMMISSIONER ARAM BAGH REPRESENTATIVE OF BEDITY COMMISSIONER SOUTH

MEMBER

DR.MANZOOR AHTED MEMON CIVIL SURGEON ADDITIONAL CIVIL SURGEON SERVICES HOSPITAL RARACHITECHIA